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PART - I / 4TI - | |
CHILD DEVELOPMENT AND PEDAGOGY / aTe a1 9 Riarem=

Direction : Answer the following questions (Q. Nos. 1 to 30) by selecting the correct/most appropriate options,
e : Frefafad Tot (3. G&T 1 9 30) & 3% 37 & forq weh/mere Saga fawed g/

1.

Assertion (A) : 12-year Amana gets scared every time the teacher asks her to answer or 391ve the
maths problem on the blackboard because she fears that the teacher will scold

her and she would be embarrassed.
Reason (R) : When students feel unsafe and anxious their learning is adversely affected.
Choose the correct option.
(1) Both (A) and (R) are true and (R) is the édfrect explanation of (A).
(2.) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.
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In an inclusive classroom the teacher :

(1) Identifies “deficits’ in children and correctly labels them.

(2) Segregates children based on differing acaderruc capabilities.

(3) Modifies the curriculum and pedagogiééliﬁirategies to suit varied needs of children.
(4) Tries to encourage children to do better: ::"Eii;i_lpromoﬁng competitive spirit.
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3.  Anexample of ‘class inclusion’ :
Assertion (A) :

I-In;kesh has trouble W1th classifying one concept (Delhi) as_a subget of another
dia)

Reason (R) :  Understanding how emotions affect memory and learning can lead to self-

regulated learning,
Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2)  Both (A) and (R) are true but (R) is not the correct explanatlon of (A).
(3) (A) is true but (R) is false. i

(4) Both (A) and (R) are false.
‘ot TUEYA &5 T Iae -
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.4, As per Jean Piaget’s theory of Cognitive Development :

(1) Biological factors such as maturation don’t play any role in ngnlhve development.
(2) Learning experiences depend on chﬂdre:_'l.::. current level of cognitive functioning,
(3) Memonzatlon' should be prioritized over learning through experience.

(4) Previous knowledge doesn’t play any rolem the process of learning.
wmﬁmm%m%m
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5.  Assertion (A) : Inan inclusive classroom, all curriculum ?daptﬁﬁon‘g should be directed to lowe,
the educational standards for ‘Special children’.

Reason (R) :  ‘Special children’ do not have any potential for learning in mainstream classroop,
Choose the correct option. i
(1) Both (A) and (R) are true and (R)'is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false. -3
(4) Both (A) and (R) are false. e .
AT (A) :  TH THRR Fe F, Goft e S ¥ Wk T B TR w5 fe
e w01 & o e foran s =nfea|
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6. Ten year old Kakuli is struggling w1th :é%iifficult math problem. What can her teacher do to
enhance her problem-solving skills ? .=
(1)  Give her the solution to the problem=-,
(2) Tell her to skip the problem and rﬁo‘ﬁe on to the next one
(3)  Encourage her to keep trying and’offér scaffolding when needed
(4) Give severe punishment so that it'is not repeated in future
T Tl 1 FIGel [ % T Hio Tard 3 S @ ¢ | 9% G WA B F qgH & T I
fférent =/ T Tt &2 LN
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7.  Following Lev Vygotsky’s ideas, a teacher should :
(1) discourage the use of cultural tools’by:students.
(2) disseminate the knowledge to be me;’iiorized by the students.
(3) encourage students to compete w@ﬂi‘-'—é__ach other.
(4) practice reciprocal teaching with hér students.
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Which of the following statements about Lawrence Kohlberg’s theory is correct ?
(1) It does not specify exact stages for progression of moral development in children.

(2) Itis based on the study done through exp’efimental methods.
(3) It presents conflicting situations to children.

(4) It takes into account effects of culture and ‘gender on moral reasoning,.
it reersrt 3 Rt 3 i o Frefon 4 & 2 5 5o 98 42

(1) Wﬁﬁ}ﬁ%ﬁmﬁm%mmﬁﬁﬁﬁﬁﬁm%l
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(4) =& Ao T T HEFH iR et % o e § v 2

™

Howard Gardner's theory of multiple mtelhgence proposes that :
(1) Intelligences change over time.

(2) Intelligence is primarily inherited.
(3) Intelligence can be measured accurately and predxcated precisely.

(4) Intelligence can successfully predict acadermc success.
g MER ¥ ggfe e wymE e fF:
1) sfs T % WY FEe € il
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3)~ g@ﬁmmﬁmwm%aﬂ?mmﬁﬁﬁﬁmmm%l
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Which of the following is an example of a performance goal orientation ?
(1) A student studies hard to achieve a deep understanding of a topic.
(2) A student studies hard to get a good grade and be better than others.
(3) A student studies hard to learn as much as poss1b1e from the teacher.
(4) A student studies hard to further her own. growth
ﬁmﬁﬁaﬁqmmha&qaﬂxmmmwwﬁa
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Assertion (A) : As compared to boys, girls have an innate tendency to be affected more by SOcia]

and cultural factors. o thah b kin
Reason (R):  Girls are genetically more sensitive and. emotionally .weaker an boys, making jt
more likely for them to conform to societal expectations.

Choose the correct option. ] =

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)-

(2)  Both (A) and (R) are true but (R) is not the cﬁrrect explanation of (A).

(3)  (A) is true but (R) is false,

(4) Both (A) and (R) are false. _

FRUT (A): e F g el § WA SR Wephn SR ¥ S w9 w@
. TSI Y Bt | |

FROTR):  weiHal SR ©9 Q dehi &1 gar § sty Haeeie it ST &9 HHsit

=it 8, T mor Sent wrifor aTdensil & STTET € i WA U 8 Sl 3
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A teacher wants to enable meaningful and analyhgil_learnmg inher class by providing opportunities
for students to connect their prior knowledge to new concepts. Which of the following teaching
strategies would be most effective ?

(1) Lecturing on new material and providing students with a list of key terms to memorize.

(2) Assign students to read the textbook chapter and answer questions at the end.

(3) Ask students to share their own exp

: eriences’ telated to the new material and then connect
them to the topic. 5

on how to complete a task related to the new

(4) Providing students with a step-by-step guide
material. s

o foftent B ) ST T I 9 T e § v i
mmmﬁamgmm%lmﬁ?;#ﬁiﬁgﬁﬁégﬁwwa
) #WmmhmmﬁmW%WWWﬁwWWI
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Which of the following is an example of assessment for student’s learning ?

(1) A final exam that covers all the material learned throughout the term.

(2) A quiz and brainstorming at the beginning of class to check for prior knowledge.
(3) A standardized test used to compare students across the country.

(4) A rubric given to students at the begmnmg of a project, outlining what they need to do to
achieve a certain grade.

ﬁmﬁﬁﬁqﬁaﬁﬁﬁ%ﬂaﬁ%mwmww%7
1) W&ﬁﬁqﬁmﬁmﬁtﬁ{mﬁlﬂ@?ﬁwmm@?ﬁ%l

(2)/E§Wﬂﬁﬁﬁﬁ?ﬁﬂmaﬁwﬁwm 3l fora-ser |
(3) =W W%mﬁaﬁmmﬁm@wﬁaﬂgﬁwﬁm|

(4) T IRESH ® weuTE A oEl @ fen T s, 78 W@ithd F gy fF 3% @ v I W
FH & fau = = =ity

Assertion (A) : Creating an environment-of fear and stress keeps students ‘on their’ toes and
facilitates meaningful Ieammg :

Reason (R) : Learning is governed only by extrinsic factors.

Choose the correct option. _ ___'
(1) Both (A) and (R) are true and (R) ‘IS__ﬂ:le correct explanation of (A).
(2) Both (A) and (R) are true but (R) mnot the correct explanation of (A).

M W T

(3) (A) is true but (R) is false. N

(4) Both (A) and (R) are false.
maﬂtmwwm%ﬁaﬁmaﬂiw%ﬁnm%aﬂxmﬁmmﬁﬁ

AR (A) :
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Which of the following are effective strategies to teach new concepts ?

()  Presenting examples

(i) Presenting non-examples .

(iif) Promoting thinking about relationships amongst concepts. o

(iv) Giving a definition and encouraging students to rote memorize it. Lk
(1) (), (i) @ @), (@) (®) @) @) 6@ @) G )0
ﬁmmﬁﬁm%mﬁm@féaﬁﬁaﬁ?ﬁwa}mﬁﬁm%?

(i) ~ SRV WA

(i) o TR-S2TeR T we oL -

(1)~ STHCMEA % =it wfelf % = Wrr = wgran 311

(iv)oL. T TR S 39 BT 71 38 A1 e 5 ferw e X

1) @) (i) A2 (), (), (3) (@), (i), (i) (4) (i), (iv), (i)

L

E

Lev Vygotsky views cognitive developmentp as :

(1) a collaborative process (2) an individual activity

(3)  a unified process (4) effective adoption to the environment process
I SR W faehr forg w9 4 3ma §2

(1) T Hearmeas gl ) T =fw GE

(3) T UHEA whE (@ A R T ST H G

You are a teacher who wants to éﬁgéurage your students to think critically and creatively. Which
of the following strategies is most likely to foster this type of thinking ?

(1) Assigning a project in which students must memorize and present information on a topic.

(2) Providing students with open-ended questions to come up with their own solutions.

(8) Giving students multiple-chi'fiiie tests to assess their knowledge.

(4) Lecturing on the topic and providing students with detailed notes,
m@mgﬁmm@mmwwaw%mmmm%a
W@ﬁﬁaﬁqﬁmﬁﬁrwwﬁﬁﬁ;ﬁméﬁﬁmaﬁﬁﬁw%?

(1) wmﬁwwmﬁmﬁﬂqﬂ?waﬁmmaﬁtmmﬁﬁ

) gﬁaﬁmmwuﬁ@@jﬁm@ﬁﬁiaﬁmmml |
(3Vmﬁﬁmmwamq'-ﬁ%m%ﬁWﬂﬁmhl

(4) T R = 2 iR o 1 fareq e wam w5

25. Fiza analyzes that she has more ﬁroblems in learning topic X than in learning topic Z because she
is interested in topic Z and is paying focused attention to it. Which of the following construct
describes Fiza’s abilities to analyz_"e'!}er ﬂu'nking ? %
(1) Metacognition (2) Memory (3) Cognition (4) Cognitive conflict
TS 3 fergetomn mﬁ@ﬁwz@@#ﬁmﬁm X W & st ot § wiifs g faw Z
73w iR w m%ﬁ“@%:%ﬁﬁmmmﬁmmﬁww
A BT U HIT &2
(1) sireEEm (2) 7 wfa 3) Ham (4) ST
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Which of the following statement aptly describes the purpose of a diagnostic assessment ?
(1) To give students the opportunity to critically assess the work of their peers.

(2 To _ideﬂﬁfy the attitude patterns of students and design a career guidance programme as per
their needs.

(3) To provide feedback to the teacher about their teacl___ting_ methods.
4) To identify the areas where students may need add_i_t_iqnal support or instruction.
Frafafed 3 § SF-w Fo Yafe area & v 51 STE avE S § 2

(1) foefiEl <t o1 Gewhi & wm % g e U 1 TR FEH F

(2) Tt % sifigin ey 3 veam o0 oI ST STEvES % SR T s FE

(8) . Foraet = s fnen i 3 4 e et |
(4) 37 & Y vETE wE R R wy stfafe e O RN eyl & Sehdl 8 |

While there exists a possibi]ity of intra-group individual differences, yet most students with Autism :
(1) acquire advanced socio-emotional reciprocity. ;

(2) demonstrate advanced communication skills.
(3) express strict adherence to routine or steps.
(4) perform superior skills of imaginative play.

iR SieR-wg SRR el #1 woee Hieg 8, Rt oft weielim A st forenef -
(1) v 3T AR - Mo Tefehal 1 Suafe o 3 €1
(2) ST YOG F BRI FERI hid €
(3) et =il o W | e T Ty g
(@)  FETRIT G & IR HE A FEE

Jean Piaget perceives tobe . Lev-Vygotsky believes _  to be

(1) Egocer.ltric speech, a sign of cognitive immaturity; private speech, effective in self-regulation
) Egocen&ic speech, effective in self-regulation; private speech, a sign of cognitive immaturity
) Private specch,  sign of cogniive immaturity; egocentric speech, ffective in selfregulation
(4) Private speech, effective in self-regulation; egocentric speech, a sign of cognitive immaturity
< frard W Sl g & e
(1) mw,mmﬂﬁ;ﬁﬁa@,:ﬁ-ﬁmﬁm
(2) » STeTER A, - & ot a1, W STaRern 1 S

(@) it am, SAACTR rqRqaadl 1 Hehd; SR A, e -fafrafig § et
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29.  Which of these statements would advocates of progressive education agree with ?

(1) Children are naturally ‘good’ and society corrupts them.

(2) Children are naturally * u.ncw:hzed and socialization is necessary to make them moral humap,
beings.

(3) Children are born in a social, cull:ural economic context and this background influenceg
their development.

(4) Children are a distinct hfe-stage that hold importance because of “what they would become
as adults’ rather than “what they . are as children’.

wﬁr&ﬁaﬁm%mwﬁﬁmmﬁm@ﬁ?

(1) ﬁﬁwmﬁmm@‘m‘aﬁ%aﬂtwﬁ?ﬁm%l

(2) == T T Y o’ g ¥ ol 3% i Hre SR % f e siavae €

(3) o= Toh WIS, Wi, Siis dev § 4a1 ¥ oiR 7% T T fasra i wafam B &)

(4) YA TH ST Stia-=20r & fora ¢ aﬁ?*%ﬁwfr%am% FI9Y 'S TR F w9 H =T S
e @A g

30. Assertion (A) : Each child finds oppof?uéﬁes to play, experiment and discover their world.
Reason (R) :  Childhood is a umversal‘;:onstruct. _
Choose the correct option. **
(1) Both (A) and (R) are true and (R)lS ?:he correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.
AMIHYT (A) :  TAF o= =+l G, uﬁnaﬂﬁaﬂtaﬁgﬁmaﬁmw%ﬁmﬁaﬁ%l
SR (R) : T TF gy ﬁmfur % |

W& e ]

(1)J/A)aih(n)aﬁmﬁ%aﬂwnaﬁ(n)ﬁéwm%n
A)aﬂt(maa‘ma%éﬁwm)mnm@amﬁm%l

() (&)W & A (R) o ¥ )

(4)  (A) 3R (R) 3 e
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. IMPORTANT | ‘!Ff_n‘ﬂ"’
Candidates have to do questions 31 t

; 0 90 EITHER from Part - II (Mathemati d Sci OR from
Part - 1II (Social Studies / Social Science). . : RIEEE s &

Tgnifat & 49T 31 90 ar At wr - 1 e s

. - II (7fora 7 ar 4T - 111 ( @I 3 aT

717 ) @ @& &1 - / ( | :
PART - Il / 91 - Il

o MATHEMATICS AND SCIENCE / 7ifr 3 fir

trection : Answer the following questions by selecting_.:ﬂf; correct/most appropriate options.

FET : ﬁwﬁ@ayﬁ%mﬁ%mﬁﬁmm@#ﬁmgﬁm

31. The value of 31096+ (2704 +2) +0.6738 +0.63 +0.059 — 0.79 is equal to :

31096 + (2704 +2) +0.6738 +0.63 + 0.059 — 0.79 ST M K &

(1) 23.6728 (2) 23.5728 (3) "24.6728 (4) 24.5728

32. For which of the following measurements, the construction of triangle ABC can be done ?

1) AB=3cmBC=4cm AC=7cm 5°

(2) AB = 8.cm, BC = 4 cm, ZBCA=90°, ZABC=60°

(3) ZACB = 120° ZABC = 25%, AC = BC =“4'em

(4) AB = 5cm, BC = 6 cm, ZABC = 130°, iZBAC = 25°

i 2

33. One of the factors of 20pq2+4pq +45pr2—60pqr —6rp is :
20pq2+4pq+ 45pr2— 60pqr — 6rp F REe | ¥ TF UrEs fE R
1) 2r-3q 2 29-3r

(3) 10p—15r+2 (4) 15p=10r+2

SPACE FOR ROUGH WORK / T &rd & feTt wite

' | 13
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Which of the following statement is correct about assessment ?

(1)  Assessment as learning generates opportunities for self-assessment and peer assessment,

(2) Summative Assessment helps to know to what extent the instructional objectives haye been
achieved while teaching a concept. ./

(3) “Assessment for learning’ is a process'With no scope of giving feedback.

(4) Formative Assessment is used after the course completion to assign the grades.

e 3 fora Fretffiaa 3 & F-w o Wl 82

(1) STeEr 3 w9 i, i SR AeRH e & S I Hl ¢

(2) AT ST T SR § weg e § o feret sreron 3 freror & S Freern St 9 fg
T % W foman man ¥

(3) ‘it % A mer! w Ut wfEr § R fagfie UeH T RS STEE Tl el

(4) UIETHA YU BN F 918 I 2 F FoU ATF e 1 UGN ToRar S ¢

Cards l?eari.ng numbers 12, 13, 14, ..., 70, 71.(one number on one card) are kept in a box and then
a card is drawn from the box without looking-into it. What is the probability that the card drawn
has the number which is not a prime ? £ 33

#@mﬁiﬁ, 13,14, ..., 70, 71$ra‘fmmmq§j§%ﬁwﬁwﬂ% (Th 1S W T HeA) a91 fR g
fost & & o oIt %@, T 1 Frrehren W & | gweht P iR & o FreTel T hTé W e O wem d,
Sl TR TE 22

15

7 |
™ 3 @ 3o 45

3
2 4 3

Many occupations such as accountancy, banking, shop-keepi ilori i i
_ patic 5 a , , ping, tailoring etc. r ti
directly or indirectly. This is an explanation of vflue of Mgthemaegtclsl.res mathematies

(1) Disciplinary (2) Cultural (3) Utilitarian (4) Professional
g A AU S o erarre (o), 3, gwmer T o1 m Tenfe |
q iU &l savaswd Bt &1 9% v % i

(1) fawgres (2) wieHfas @ 3

SPACE FOR ROUGH WORK / % w1 % o1 =g
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37. Which of the followine ; ' -
and eXperhnenct)ag;n;%ﬁ?;S:d to record students’ problem solving ability, measurement ability

(1) Cumulative Record (2) Report Card

(3) Anecdotal Record (4) .j;I-'eacher Diary

'q“‘%"@ﬁﬁﬁmmﬁwﬁﬁﬁQﬁmaﬁm 9 1 A, GATTeHS Gl G
ﬁﬁﬁﬂé@ﬁ%mﬁmm%? ' .

B) STEETE e (4)" e ot

38. Which of the following numbers is written in the standard form ?

e

1) 45x10% (2) 85x10712 ' (3) 0.6x10' 4) 83.7x10~%

- T

39. The distance between the parallel sides AB.and CD of a trapezium ABCD is 12 cm. If AB<CD,

CD =24 cm and AD=BC=13 cm, then area‘of the trapezium (in cm?) is :

fopet WA ABCD 1 IR Yiisil ABaihcna:ﬁiaﬁgﬁum%lwﬁAB<CD,CD=24mw
AD=BC =13 cm £, 91 38 Toed 1 &hd (cm?d) F €

(1) 1235 (2) 114 @) 247 4) 228

SPACE FOR ROUGH WORK /T® & & o W
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40. m:'lcl?‘l one of the following is the most appropriate feature of mathematics textbooks at elementazy
(1) The language of the book must be highly precise and technical
(2)  Books must contain a lot of similar questions to practice
(3) Concepts should be presented from complex to simple
(4) Concepts should be presented from concrete to abstract
WWWWﬂﬁﬁﬂﬁmﬁﬁﬂﬁf@ﬂﬁﬁaﬁﬂ—@ﬁﬁWWW%?
(1) T % oI S T sl e A =T
(2) fehameil & syvare e o forg sgd W HEH T B w16
() RO W Sifeet 3 T F) iR g fov ST <
(4) STAuRETS 1 3§ 7gd 1 SR wegd R S e

41. A solid cube of side 12 cm is cut into snia{II solid cubes of side 4 cm each. What will be the relation

between the total surface area of the original cube and the new total surface area of the small
cubes so formed ?

| £7
(1) New total surface area will be 2 of the original total surface area.

(2) New total surface area will be twice the ongm:altotal surface area.

1 :
(3) New total surface area will be 3 of the original total surface area.

(4) New total surface area will be thrice the original total surface area.
12cmﬁmaﬁwaﬁamaﬁ@ﬁmﬁﬁmm§ﬁaﬁﬁmﬁ}Fnum%l RIS [ &
T I & TN T FHR T D W el T St ¥ e o wey A

(1) W%WWﬁWWWWW%@WI
(2) T T T & UK el TS et 3 g @ S
() 7 T s if et g e 7+ ) )
(4) T gt A A et it e e @ s

SPACE FOR ROUGH WORK /wm & fou s —
)
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21270098

Meenu wrote some numbers on the blackboard and arranged them in ascending order as

2<7<9<12. She then multiplied each number by (— %]

Identify the correct statement regarding the above situation.
(1) Ascending order of numbers wﬂl still remain the same.

(2) Mean of the numbers will remam the same.
3) Ascending order will now be changed to descending order.
(4) Number of terms in the ascending order will change.

mﬁmwwmmmﬁﬁaﬁmﬁmmwmmzdw <12 | fm
mﬁmmaﬁ[—ﬂﬁwmﬁmf

I aRtfterfa § Frafefad s § @ @ s ve=tm)
(1) HEmsd 1 SRE w9 a1oft of e @)

(2) Hemsd &1 o 99 Wi

(3) Wﬁ@mmmm@ﬁmﬁt%@m

(4) Wwﬁ@ﬁmwmu

Following data shows the number of
him/her :

1,024 0,3 1L L2441
What is the difference between the meaniand mode of the above data ?
ﬁmm@mmmm@ﬁwﬁwnﬁﬁmwﬁmﬁmmﬁ%:
1,0,2,4,0,3,1,1,2,4,1

sqaq“?areﬁ%ﬁmwafﬁagaﬁmaimw%??

o |

8 w 10
O 1 S ] @

P-IL [

SPACE FOR:ROUGH WORK / Y% i & few wrrg
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¢ intersection of two parallel lines by a transversal are

44.  The two corresponding angles formed by th ot
(3x—20°) and (5x - 60°). Then, the value of (4x+30 ) is
Rt forder T 2 e il 3 s @ A @ W A (3 —20) S (5 —60) €1 T, (4x+30)
HHAFRT: '
1) 90° 2) 110° “eo(3) 130° 4 T
45. A nine-digit number 565x9274y is divisibl_ga by number 88. Then, the value of (2x+3y) is :
T -3 HEN 56519274y, T 88 W A ¥ 1 T, (2 +3y) FAE ;
(1) 26 2 25 @ 24 (4) 22
46. PQRS is a parallelogram in which PQ= (4x+1) cm, QR =26 cm, RS=25 cm and PS=(3y~1) cm.
Then, the value of (3x+2y) (in cm) is :
PQRS T iR =gy ¢, f PQ= (4x +1) cm, QR =26 cm, RS=25 cm AR PS=(3y—1) cm T174,
(Bx+2y) FAA (ecm H) T : hoion
(1) 35 @) 36 38 4) 39
47. If x=k, is the solution of the equation :
x-4 S—-x 11k +18
i . .
5 5 + X, then what is the value::;q{._%l 12
g x=k, FHIH
x—4 X 11k +18
-1= +
7 3 T E T W gy WA
1 <) - 5
1) — - = 4
™ 3 @ 5 Lo 3 @ 3
P-1T ([N 18 E
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Which one of the following is a teacher-centred method of teaching mathematics ?

(1) Problem solving Method (2) Lecture Method

(3) Heuristic Method (4) Group Discussion Method
frafafed § | = @ nfr famo =51 ws foree-8fi fafa 2

(1) wwEn gyE fafy () =rer fafu

(3) @ WMy (hfes) fafu @) e o fafy

On the basis of the information given in the statement, which of the suggested course of action
logically follows ?

Statement : Anamika does conceptual error while solving problems on mensuration.
Course of Action :

(I) Teacher gives a lot of hands-on and visual practice to Anamika.
(IT)  Teacher provides the scope of discussion while giving open-ended questions.
Choose the correct option.
(1) Only course of action (I)
(2) Only course of action (II)
(3) Neither course of action (I) nor coutse of action (II)
(4) Both course of action (I) and (II) —
o 7 &) T R & STYR W, HIT WG T Freerd i w9 R STguret wd €2
HUAT : mﬁmﬁﬁwﬁgmﬂwﬁmmwzﬁm%l
s il
M ﬁfwmmﬁagauﬁwmﬁmaﬁtwammm%ﬁqiﬁ%l

(1) forfee R FeR aTel T 3R < T A e §
Té faswea 91|

(1) Faa Fram (1)

(2) EHaa e (1)

(3) A wra (1) iR 7 @ e 1)

(4) s (1) @ (1) SR |

SV T T

SPACE FOR ROUGH WORK / % @i & fow v
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50. For teaching addition of integers at the upper primary stage which of the following is least usefy] ;

(1) use of stairs (2) useof lift

(3) use of number line (4) use of chart paper
ol Wi WR R QUi o1 e gt ¥ fere Freered § & o wed e © 2

(1) wifedl s swm () fow w1 swEm

(3) HE @I W IYEM (4) Hléﬁmww

51. In a pentagon ABCDE, ZA=(2x+9°), ZB=(2x+1°), £C=(2x—1°), £D=(2x+5°) and
£E=(2x—4°). Then, value of (2x+10°) is :

fodl 99YS ABCDE #; ZA=(2x+9°), £B= (2x+1°), £C=(2x-1°), £D=(2x+5°) 3
ZE=(2x—4° ¥179, zx+10°)mm=r%

(1) 114° 2) 116° (3) 118° 4) 124°

52. LetA = 3x2—8x+11, B = —212+12¢, C = 422 +7and D = 2—x—11.

{ If A+B+C)—D = px?+qx+r, then the value'ofg(p-!-q+r) is :
A R A = 3x2—-8x+11, B = —222+12r, C = —4x247 3R D = x2—x—11 ¥,
I (A+B+C)—D = px2+qr+r e @ (p+q+r) F AT % ;

1y 27 @) 28 (3)___‘-.30 @ 31

SPACE FOR ROUGH WORK / T %™ % Tt s
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Which of the followin

. & represents the most important capabilities of learners to be assessed in
mathematics ?

(a) Ability to use abstractions to perceive relationships

(b)  Ability to memorize all the formulae given in textbook

(c)  Ability to apply mathematical concepts to solve problems related to daily life situations
(d)  Ability to score full marks in mathematics

Choose the correct option.
(1) (@) and (c) (2 (@and (@ - (3) (), () and (d) (4) (b)and (d)
Fretfefi 3 2 o 3 o ST Al e < e et e ) Fref v 32
(a) EsiHl = TN F T vy T SwE F F e

(b) TSugET H fEU Wl YA I AR FA BT

(©) éﬁ?ﬁ\ﬁqﬁwﬁﬁﬂﬁlﬁﬁﬁaﬂﬂmﬁlﬂﬁwﬂﬂﬁ%ﬁﬁﬂw STAYRONST T STTIATT
T &E .

(d) IO H g 37k W A I &
W fape T |
1) (@) 3R () @) (a) IR (d)

|l,,.;:,.‘:l in

I‘l ||||llI

sl
E. |'||

®), (@3 (@) 4 ) AR

A sum of T 8000 becomes ¥ 9500 at 7.5% p.a. in x years at simple interest. What will be the
amount of the sum in same time at 20% p.a, if interest is compounded yearly ?

% 8000 1 TS TR 7.5% AT T Y x T H WL <A T 2 9500 A Weft &1 3t Ter =1 20% anfife =X
@mﬁwﬁmﬁam@mﬂﬁwaﬁm#&ﬁamg?

1) % 11616 (2) T12144 @) T12672 (4) ¥ 13824

SPACE FOR ROUGH WORK / % &4 & fog smg

"2l
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55. If x is the smallest number which is to be subtracted from 2605 to make it a perfect square, then the

value of (4x+7) is :
q‘?xﬁmﬂﬁqﬁw%ﬁﬁzéoﬁﬁmﬁmaﬁgﬁaﬁ@mﬁ%?ﬁ(4x+7)$1“ﬂ%=
1 1 () 23 5 27 4) 31

— g s
56. Which of the following rational numbers lie between =~ and —4—?

ﬁmaﬁﬁa-mﬁaw@ﬁ%am-}l 3 fem £2

~g, = '-35 =4
(1) —5—10;? (2) 3 5 4
5 2 -3 5 -2 -3
® 33 @ "5 3’5

22
57. The distance covered (in metres) by a wheel of radius 25 cm in 350 rounds is (use = 7) :

T 25 con T T T 1 350 7o P 7 g (e ) # = 22 0 7 )

(1) 275 2) 550 ~(@3 825 (4) 1100

58. O isa point on line AB. Rays OC and OD are drawn on the same side of AB such that OC 1 OD,
ZAOC=x and ZBOD=3x. Then, ZBOD is equal to :

@ ABR feud O T foig %1 AB & T & 3R @ il OC 3iROD 38 wavw @i+t 7€ € fiF OC LOD %,
ZAOC=x 3R £/BOD=3x &8, £ZBOD TR ¢ :
10 10

22— e ° A
® 23 @ o @ o

SPACE FOR ROUGH WQRK /% & & faw e
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The cost price of an article is ¥ 750. It is sold for T 608 by giving 24% discount on its marked price.
Had it been sold on its marked price, then what would have been the profit percent ?

forell =g 1 %2 T T 750 ¥ 1 5 T wiferd o T 24% T G TR 608 F A T A T o
THeh 3Hfhd Yo T =1 @, @) feern o Wi W 2t ?

) 5% @ 6% ® 53 @ 63%

Nitu is always confused in identifying the tt'ansfo;ﬁéicions. Her mathematics teacher helped her
by giving one simple word for each transformation namely : Reflection, Rotation, Translation and
Enlargement. ' L =l

Which of the following represents the correct sequence of meaning of each transformation as
given above ?

(1) Turn, Slide, Flip and Bigger Figure
(2) Flip, Turn, Slide and Bigger Figure
(8) Slide, Flip, Turn and Bigger Figure

(4) Flip, Slide, Turn and Bigger Figure ——

g e TR (ZFRR) Ve w1 F S ¥ T #1 Swet v = e 3 3 o

e o T R R 5 ane ) P - o Pl e §2
(1) AT, ReEeE, T St S8 SR
(2) e, ST, FEer S e SR
(3) e, Terer, YA SR ST SRR
(&) e, T, AR ST S S

e
¥

o T

SPACE FOR ROUGH WORK /1% &t & fetq wwrg
£

A e e
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| T riate options.
L Direction : Answer the following questions by selecting the correct/most ap ’P s i z
frdfor : ﬁﬂﬁﬁﬁm’%‘mﬁ%fﬁﬁﬂﬁmﬁmiaaﬂ ik

ies in Science :
61. Read the following statements in the context of Laws and theories 111

S1: Laws are generalisation statement whereas theories are €X
S2: Laws are very old and theories are contemporary-
S3 : Laws can’t be changed whereas theories are subject to change.
(1) Slis true; S2 and S3 are false
(2) Sl and S2 are true whereas S3 is false
(3) 51 and S3 are true whereas S2 is false
(4) S is true whereas S1 and S2 are false

for  Freeif e il 3 wieed # foretfetfia ol 1 9T :
S1: Form Wi wo § wafs faeia ore € |

52 : fram aga T ¥ SR faegia Wl €|

S3: form Wl 7 w1 wehd § wafer ot aRadd % ST €
(1) 19 ¥; S2 3R S3 e &

2) SleRS2 TR TT@FESIT@E - =~

(3) Slehs3mAEvafF2TmE -

(4) S3TRARTSEMFESIsRS2 T@E =~

planal-ions.

62. Which of the following statements are trug7
(A) Crystallisation is a chemical char«._gé.;;i
(B) Photosynthesis is a chemical change..
(C) Ripening of fruit is a physical change.
(D) Formation of curd from milk is a chémical change.
(1 @A)and(®)  (2) (B)and(D) (@) (B)and ()  (#) (C) and (D)
frrafafea § 4 HH-9 FHT W@ © ?
(A) Toreem (freelien) T TEEi aRedd €
(B) WHIN-TEH T A IR €
(C) el 1 T T lifeeh afeE §
(D) T Y & a1 Tk TEAH IRER 81

M @IE @ GO @) @) FRE 4 (© &R (D)

.63. While ice melts at 0°C, its temperature:: :

(1) increases 7(2): decreases

(3) remains same (4) first decreases and then remains same

@ & (fem) 0°C W faerdt & A 3w Tow ;

(1) = @) Wi
(3) THATwAE (4) v A § SR R T e
P-1L ([AHaimarmenym 24 E
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Assertion (A) : Nichrome is used as a heating element in devices like electric toaster and electric
geyser.

Reason (R) :  Nichrome has high melting point and 1 istivity.

(1) Both (A) and (R) are true and (11111; is c%rrr}gct e?c;lanc:;or:fsflgr (A)

) BOﬂ’f (A) and (R) are true but (R) is not correct explanation for (A)

(3) (A) is true and (R) is false =

(4) Both (A) and (R) are false tam?

ANHT (A) : TR 1 Wl o St fergge TSR S 71 § qoF o % w9 H el gl
T (R) : Fpm =1 5= Tremis sl fre e dift 81

(1) (A) 3R (R) SN W& € 9o (R), (A) 51 T =@ T

(2)  (A) 3R (R) I W ¥ T (R), (A) F T = @

(3) (A) Tl % qun (R) Tera 2|

@ (A) SR (R) 3l e

The buoyant force on an object immersed in liquid acts in :
(1) Upward direction (2) Downward direction
(3) All direction (4) Parallel to liquid surface

7o # 3 (Frefsta) forver o seetiert oo v @R :
(1) egEl fem (2) i foon &
(3) Wit femadl # (4) O HAR W T

Which of the following strategies would support m-:[uiry oriented science teaching ?
(1) Define and explain Archimede’s principle =

(2) Demonstrating the loss in weight of an object:when immersed in water

(3) Engaging students in floating and sinking activities

(4) Explaining the difference between real and apparent weight

frefafag § § S o WAt sie-veae 3@ faar e s amel w2

(1) enfkfreis faeala i o o A T

) wﬁgﬁmﬁ@m%waﬁﬁmﬁ' ki

€) Forenfofdl @ K3 Ud gEa ¥ Heife wfafafedl § Wew () W@

(4) T TE SR 9R % T 6S

Which of the following questions is a divergent?quesfi?h ?

(1) Why does a ball thrown up comes dothlh A

(2) What if there was no grax.qty on atllue eacnlr 5 ™

(3) How does gravity vary with the t;mz le 1 O,

(4) What would happen to gravity if the size o ear is reduced to half ?

fore 3 @ 9 Q w9 STIE €2

() wmmqﬁmﬁw(m)qﬁw?
(3) FQ o & WY T (TTecaTHY ) & SR 2
(4) mqﬁtaﬁmﬁmmﬁmmeﬁw(m)ﬁmﬂmm?

25
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68. Which of the following statements are true in the context of res

piration in whales and

dolphins ?

(A)
(B)
©
(D)
1)

They cannot use dissolved Oxygen.

They have gills,

They have large nostrils.

They often come up to the water surface to breathe.

(A, (B),(C) (2 (A),(@©, (D). 3 @), (© (D) 4) (A). (B), (D)

frfafea § @ = @ Fu9 2o oiv <ifer § voma & ooy # W&t €2

(A)
(B)
©
(D)
(1)

69. (A)

(B)

9 Tl ittt o Sqei & o Ted € |

% T i (aelw) 21 ¥

ek I Faq THER 8 & =

3 W TA-Y8 T I o ¥ fu ol £

(A). (B), (©) 2 (A, ©, D) (3 B, (O, (D) 4) (A), (B), (D)

Sunita takes 0.5 g of Sodium Carbonate in a test-tube and adds 5 ml of Dilute Hydrochloric
acid.

She passes the gas produced in the above reaction through Lime water.

Which of the following represents the cl‘;el_ﬁ.ical reactions taking place in (A) and (B) ?

(1)
(2)
3)
4)

(A)

(A) - Na,CO;, + 2HCl — 2NaCl + H,0 + CO,

(B) - CaCO; + H,0 + CO, — Ca(HCO,),

(A) - Na,CO, + 2HCI — 2NaCl + H,0 + CO,

(B) - Ca(OH), + CO, — CaCO, + H,0

(A) - NaHCO, + HCl — NaCl + H,0'% CO,

(B) - Ca(OH), + CO, - CaCO, + H,0

(A) - NaHCO, + HCI - NaCl + H,0 + CO,

(B) - CaCO, + H,0 + CO, — Ca(HCO),

gﬁ%ﬂ;@—w’r (T=-TgA) # 0.5 T Wfeam Frie ot & i soi 5 feh, T TR 3
|

(B) wﬂmﬁ%ﬁw%ﬁ@%ﬁ%wﬁm%l
Frsfetfam & 4 i () of (B) & & @ et siffmanaii =4 Frefr s &2

(1)
@)
@)

)

(A) - Na,CO;, + 2HCI — 2NaCl + H,0 + CO,
(B) - CaCO, + H,0 + CO, - Ca(HCO,),

(A) - Na,CO, + 2HCI — 2NaCl + H,0 + G0,
(B) - Ca(OH), + CO, - CaCO, + H,0

(A) - NaHCO, + HCI  NaCl + H,0 + €O,
(B) - Ca(OH), + CO, - CaCO, + H,0

(A) - NaHCO; + HCl - NaCl + H,0 + CO,
(B) - CaCO;3 + H,0 + CO, - Ca(HCO,),

P-I1 (R 26 E
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70. Complete the following table :
Atomic number | Mass number | No. of electrons | No. of protons | No. of neutrons
9 A B C 10
D 24 E 12 F
A, B, C, D, E, F respectively are :
1) 19,10, 9,12, 12, 12 (2 19,9,912, 12,12
(3) 910,924, 12,12 4) 9,09,10,24, 12, 12
frfafiaa arelt = g st . e
AL €6AT | T HAT | et ol weaT | Weld W wed | g @t ae
9 A B L C 10
D 24 E 12 F
A,B,C,D,E F&ml: ¥ :
1) 19,10, 9, 12, 12, 12 2 19,99 12 12,12
(3) 9,10,9, 24, 12, 12 4) 9,9 10, 24, 12, 12
71. S1- Self pollination can take place only in bisexual flowers.
S2 - Cross pollination can take place only in Unisexual flowers.
(1) Both Sl and S2 are true (2) Both Sliand S2 are false
(3) Sl is true and S2 is false (4) Slis false and S2 is true
S1 - T e fgfett qofl (Fel) H  geha &1
S2 - YU-ULATY Shelel Wehteiht qodi (Geil) H =l Hehal "é‘[—
(1) Sl sir s2 <Fi W § (2) S1 352, Il e
(3) S1 W& ¥ qe S2 7w ¥ (4) S17Ed TN S2TA T
72. Children of all age groups have various ideas Which?iiiafr be different from science concepts. Which
of the following statements are true regarding these ideas ?
(A) These ideas are usually stable
(B) They are formed due to observable phenomenon
(C) They tend to follow similar developmental pattern
(D) They are easy to mod'ify B
(E) They are often domain specific
(1) (a) (B), ©) @ ) &hD)
(3) (A), (B), (), (D) < 4) (A, (B)(Q), (E).
gsff @1g ot o ol Bl A W?ﬁﬂﬁﬁhﬁﬁmﬁ;@w@ﬁﬁﬂﬁﬂﬁﬁ%lmﬁﬁﬁ
aromat] % wele H B @ Fo WA
(A) & sroond wrer=: feer E €1
(B) @ ifu (srgarerdia) TREETS & FOTATIE
(C) 3w fahrare qfawd e w &
(D) aﬁwmaqﬁaﬁﬂmﬁﬂﬂﬁa“”;' \
B &wm: goE-a (SE) e ! i
1) (A), B) ©) @ o Q.0
27
P-IT [0 Mo ey E
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73.  Which of the following statements is true ? ; : lati t
(1)  Soil with low water holding capacity has poor aeration and high percolation rate.

(2)  Soil with low water holding capacity has good aeration and low percolation rate.

(3) Soil with low water holding capacity has poor aeration and lo_w percolal-ic.m rate.
(4)  Soil with low water holding capacity has good aeration and high percolation rate.

Frfafea 3 § 9 o w7 wd 2

(1) P STei- T e Teft W o1 S ST SR & e 9 ST o B € |
(2) TP Toi- U & TR Y 1 Sa oI v § qen e siae g ¥
©) ﬁﬂﬁﬁ—%ma@wmmﬁaﬁqﬁm%awﬁwﬁmmﬂ%%l
(4) ﬁqﬁﬁ—wmmﬁw?ﬂﬁnaﬁﬁﬁ@%amﬁmzwaﬁ%!

74.  Which of the following statements are not u-ixé':'“régarding compounds ?
(A) Compounds show the properties of constituent substances.
(B) Only elements can react to form compounds.
(C) The composition of each compound is always fixed.
(D) Compounds can be separated by physical and chemical methods.

M ABO @ GOM @ AE,.0 @ (@A)© D
freifafan § Q@ %9 § e i ¥ wau ¥ v ad ¥ o

(A) T does el Fo Ao

(B) Fael ae & Ak s & forw arfufirar o g §

(C) = AMfiteh &1 Hhem wia fer (ﬁf‘ﬁa)ﬁm%

(D) i it sifern T T e g @ e R ST w2

M @EO0 @ BOD @ AG.O @ @A)/~ D)

75. When a ray of light enters from medium A to medmm B, its speed decreases and on further entering
into medium C, its speed increases.

Which of the following conclusions can be drawn from this ?

(1) Refractive index of A is more than B and C

(2)  Refractive index of A is less than B but equal to C

(3)  Refractive index of A and C are less than B

(4) Refractive index of A, B, C cannot be cb;hfared from above information

ST Y TR WA AR AW B w3 it 7 e = () e & ek o meaw CF
Y9 T R IGH! = () et T

s et 3 % 2w Fred e o T 2

(1) AF SvadF Bk Cd s

(2) AT AUAIF BY FH T UG C F g

@) ARCF svadis BY +y §

(4) A,B,c%maﬂ?maﬁmmw%wmﬂiﬁaﬁmm%

P-11 ([ RUAT Moo 28 E
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(A) _ hormone regulater Carbohydrate, protein and fat metabolism in our body. It is secreted
by () glandand _ (©)  inour diet impacts the functioning of this gland.
(A), (B), (C) respectively are : -
(1) Insulin, Pancreas, Sugar (2)' Adrenaline, Adrenal, Salts
(3) Thyroxine, Thyroid, Iodine (4)_ -. Growth hormone, Pitutary, Proteins

(A) = ¥R WK ¥ FEiers, W o o S i freifem @1 9e _(B)  dfaEm
T Bl § AN TR SR T (C) v oy 5 ST By W e €1

(A), (B), (C) ¥: ¥ :
(1) TG, s, weha (@) tfefem, wemm (afugas), @@
(3) T, URUES, SRS ()¢ gfga T, Hgu, WA

The following activity is done in the class V[I_I_

Students are given four iron bars out of wh1(;h two are bar magnets. They are asked to identify the
bar magnets. Which of the following process skills can be promoted through this activity ?

(1) Observation, Formulating hypomesigé;l_\,_/__[éeasuring
(2) Observation, Classification, Inferring

(3) Observation, Classification, Communication, Measurement

(4) Observation, Estimation, Experimentation, Controlling variables.
e VI # Frefofaa et w1

P ) e e < g T o @ 2§89 ¥1 3 s o o e w0 3 v v v g
ety 3 e @ Freferan ¥ § A AR BRI B it fE s wwma €

(1) e (3TEEE), qfteredl ], tncm
() e (STEEAH), cuicauf ﬁﬁﬁﬁaﬂm
@) e (sTERIHR), FrffaoT, IH (EER), WY

(4) .am (W)’ 3‘-|3'EI'F‘|, 'ﬂ'ﬁ\"l, 'ﬂ'ﬁ albl Iilqifﬂil Exc|
29
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78.  On the basis of the following information identify the substances which give flame on buming:

Substance|  State Vapourises on burning
A Solid No
B Liquid ?I’es
C Solid Yes
D Liquid No:
(1) AandD (2) AandB (3) BandC 4 CandD
ﬁmﬁ@am%wmmmwﬁﬁwaﬁﬁqaﬁaﬁmm%% :
Rkl e e R ST A S
A 3 o
B od () &
& 3 &
D gd (W) &
1) ASRD @ AsRB . (3 BaRC @) cCaRD

79. Assertion (A) : Convex mirrors are used as rearview-mirrors in vehicles.
Reason (R1):  They form erect and enlarged image.
Reason (R2):  They have wider field of view.
(1) (A) is true and both (R1) and (R2).are correct explanations for (A).
(2) (A) is true and only (R1) is correct explanation for (A).
| (3) (A) is true and only (R2) is correct explanation for (A).
| (4) (A) is true but neither (R1) nor-(R2) are correct explanation for (A).
Ry (A): STEIE (ST) U 1 ST el § qeeeeH-adu (Rereg-f) & w9 f ¢
Teh (R1) : 3 Fevi ue foafida gfafara s €1
T (R2) : ST AT GIERT B R
(1) (A) W& & 7 (R1) &R (R2) S (A) F foq vt =med )
) (A) T & T FEa (R1) & (A) FT HE =@ R
(3) () T TN T (R2) E (A) F T = ¥
)

(4)  (A) W & TG (R1) 3R (R2) THI & (A) =1 W& = 7 &)

80. The density of medium A is more than thedium B but less than medium C. In which medium does
the sound travels fastest ?

1 A (2) B
@) C “_.(4) Can'tbe inferred from this information
EAW T B 3 S W o & g T C % s @ 9 ) e T ety @ 90
? CX
® A 2 B
@ C (4) 39 =W 9 fepy 72 fepren ST e
S 30 :
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Assertion (A) :
Reason (R) :
(1) Both

Achievement in STEM related courses is influenced by gender.
Problem solving strategies used by boys and girls are different.
(A) and (R) are true and (R) is correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not correct explanation of (A).
()  (A) is true and (R) is false.

(4) Both (A) and (R) are false. .

AMTFAT (A) :  STEM (VW) Haieh wrassii e fem(3rer) g0 gofad &t 1
T (R) : TS UH wSfRdl gy Wt 6 T W WA R e 2 €
(1) (A) R (R) Tl & a1 (R), (A) T = &

(2) (A) 3R (R) I T & W (R), (A) F TE =N W 2

() (A) WE T AW (R) o ®

@) (A) R (R) i o &

Which of the following represents correct matching set in the context of aquatic plants ?

Adaptation Purpose:
(a) Large circular leaves (i) helpful in protecting against decay
(b) Waxy coating (id) helpfuliin;pffering resistance to water currents
(c) Stems have large tunnels (i) helpful 111 providing buoyancy
and holes
(d) Ribbon like leaves (iv) helpful in staying afloat

1) (@) - (i), (b) - (iv), () - (i), (@) - @) e

2) (@) - (), (b) - (i), () - (), (d) - @) o

@) (@) - (i), ®) - (), () - (i), (@) - ()

@)  (a) - (i), (b) - @), () - (). (D) - ()

frmfofia B @ S @ e T (W) F w3 J W gaer v ) e e R

ST Ry
@) FeL T T ® AT €
©) T S () T SIS § W () S e
© i (i) A9 i) RN

i s fom A

@ wa (fer) S8 T (iv) foza (ﬂﬁ)@ﬁmm%
(1) () - (i), (b) - () (©) - (ii), (d) -_(i)
@ (a)- (i) (b) - (@) ©) - i), (d) - (“i)
@) (a)- (@), () - () ©)- (iii), (d) - 9)
@ (a) - (i), () - O ©) - (iv), (d) - (id)
31
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83.  Which of the following statements is/are true regarding relative reactivity of metals ?
(A)  Zinc is more reactive than Iron but less reactive than Aluminium.
(B)  Sodium is more reactive than Potassium and Calcium.
(C)  Aluminium is more reactive I'han'Magnesmm-

() (A)and (B)  (2) Only (A) 3 ®and(© (@) Only (O
STqe T sTferh sfuRpaTsier 5 gy § Frafatad 3 @ #1998 FE 9 8/
(&) i (), o & sfer st & Teg JgfE § w9 SRR §
(B) Hifeem, iefurm siv SHwmm & s sfufrde €

© Uefafem, dwiifeem § s sfufhae 2

1 @@ @ FEE@E- @ MO @ FO

84. (A)  is a technique of vegetative propagation in which a part of the stem or a young branch
of a plant is pulled and buried in moist soil, such that the branch is still attached to the Parent

Plant. After some time, roots develop in the buried part and it grows into a new plant. _ﬁ)__
is an example of plant usually grown through this technique.

(A) and (B) respectively are : :

(1) Cutting, Potato (2) Grafting, Rose

(3) Budding, Hydra (4) Layering, Jasmine

_(A) i yaeE w5 T gfay (aar-ﬁa) T fored o (W) ¥ TH 9N 37¥E1 9ey (9Y)

G ! G 3R gal § 39 YRR () <& fean s ] fob 9% v o1 S urey (did) 4 fe o
TS @ | S THE INEM, TS T 9T Hi TS forkaa 8 St € a9 98 T ¢ uiey (4i9) ¥ fawia @ 5

g1 __(B) Wﬁﬂﬁﬂ(ﬁﬁm)ﬁwﬁmw(ﬁﬁ)wm%

(A) 3R (B) wHL: ¥ ; 8
© T, w (&) T, el

85. Assertion (A) : Arteries have thick and elastic walls as compared to veins.
Reason (R) : The pressure of blood flow in arteries is low as compared to veins.
(1) Both (A) and (R) are true and (R) is correct explanation for (A).

(2) Both (A) and (R) are true but (R) i 1s not correct explanation for (A).

(3) (A)is true and (R) is false,

(4) Both (A) and (R) are false.

afiraT (A):  Reweli &t qorn & Wﬁﬁﬁmﬁaﬂiwfﬂﬁm@'cﬁ%l
& (R) : ﬁmﬁﬁmﬁmﬁﬁﬁmmmmm(ﬁn)amﬁn
(1) (A) 3R (R) S G & 7 (R), (A) F HE =

(2) (A) 3 (R) T WE & TG (R), (A) H T = 7 ¢

(3) (A) W& T au1 (R) T ¥

@) (A) 3R (R) 3 T §

P-10 ([T 32
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Which of the followmg

system ? statements is/are true regarding the function of bile juice in human digestive

(A) It makes the partly digested food coming from stomach alkaline.
(B) It helps in digestion of fats.

(1) (A)is true and (B) is false (2) (A) is false and (B) is true

(3) Both (A) and (B) are true (4) Both (A) and (B) are false

A WEHaA H 9 W & w1 ¥ weiy A Prafatad 3§ @ @ w/Q $u9 18 8/8?
(A) %W@m@mmﬂﬁﬁmﬁwwﬁﬁl

(B) & 9HI % reM H WerHdl Fa 2|

(1) (A) WE & 91 (B) 7o & @) (A.-)_TFEH%HHI(B)FET%
(3) (A) 3T (B) I wt ¥ @) (A) iR (B) 3 e &

Which of the following statements is/are true regarding nature of science ?
(A) Scientific ideas are not affected by cultural context.

(B) There is no single scientific method. ::_:;

(1) Both (A) and (B) are true ) (@)ii‘é:_;me and (B) is false

(3) (A) is false and (B) is true (4) Both<(A) and (B) are false
Frefafad o 9 =9 /4 Wﬁiﬁﬂﬁ%%ﬂﬁﬁﬂﬁ%/%’

() i for et T g e T

(B) F w dmbe faf (v R o

(1) (A) R (B) I TE (@) (A) W& T R (B) T &

3) (A)wraa%aﬂ'((B)‘élﬁ% @) (A) R (B) EFl e €

Which of the following have the most scope for promoting Art integrated learning in Science ?
i ;

(1) Portfolios, Anecdotal records

(2) Projects, Portfolios - :
(3) Anecdotal records, Journal writing ;-: _____

iting, Field trips
g;ﬁ?:;ﬂlwwn ifwmaﬁaam&%aﬁamﬁmﬁﬁmﬁm 3feR B2

(1) e, S el 51 -
() e (R, -
o) e v, a:i'ef'é@q -
@) e S, &
33
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89. Which of the following statements is correct ?

S1:
S2:

(1)
(2)
(3)
(4)

The normal temperature of the human body is 37°C.

Heat flows from a body at a higher temperature to a body at lower temperature.
Both S1 and S2 are observation? :

Both S1 and S2 are inferences | _

S1 is observation and S2 is infei'qné__é

S1 is inference and S2 is observali_':_ion

Trefafea 4 @ FH-91 Faa T8 22

S1:

S2:

(1)
(2)
®)
4)

e IR T WA A9HE 37°C ¥ |

HH! o1 WOHM STl YRR & T qHe are TR SR seted gt €|
S1 8 52 3 st (Sen) §i

S1 3TaERA (&) § a1 52 a:lgqﬁ%r

S1 ST & 79N 52 ST (ﬁ&?ﬂi)%l

90. Which of the following should not be the purpose of open book assessment in Science ?

1)
()
3)
(4)

To reduce the fear of assessment in learners

To gauge conceptual understanding of learners

To score more marks in tests

To give opportunity to explore the book

ﬁmﬁr@aﬁﬁﬁqmﬁmﬁqﬁﬁfawwsﬁmﬁmm?

(1)
(2)
3)

3:fﬁ‘1‘|q35ﬂ|3ﬁ i STIYUTHh W‘qﬁ’[ HIYH]
qiensii # s o o

&I % STV % 3R YSH T

P-IT [{TA0manmann A
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IMPORTANT | F&waqvf :

Candidates have to do questions 31 to 9 EITHER from Part - Il (Mathematics and Selenice) OB Jrom
Part - III (Social Studies / Social Science). '

wdgiat 1 V¥ 31 8 90 A1 &Y T - 11 ( mforg 7 ) A 9T - 1 ( @I ST/ W
o) @ FH E A

PART - Il / Y17 - 11
SOCIAL STUDIES / SOCIAL SCIENCE - IR 31ead / Ao fasi
Direction : Answer the vaowing questions by selecting'_.the correct/most appropriate options.
3T - WW%W@#%WWMWWW
31. Match the following and choose the approp"ria“te option.

A B
(a) Grihapatis (i) Landless Labourers
(b) Shrenis (i) Independent farmers
(c) Adimai (iii) Coastal Settlement
(d) Arikamedu (iv) Craft perso_r;s

1) (a)- (), ®) - G), () - (i), (d) - (i)
@ () - @), ®)- (@) © - @), @ - )
@) (@) - (iii), (b) - (iv), (@) - (@), (D) - ()
@ (@ -G 0)- (), Q-0 @-a@
Frefirfiad =1 firem T Ao g fosed o -
A B

(a) Tfd @ e R
(b)  &oit —_ (i) @A W‘
() orfemd
(d) g (iv) FeTHER
W @) - ), ®) - () (© - (i) (- ) _—
@ (@) - @), ®) - @) © - @) @ -

@) (@) - (i) (b) - (), © - @ @ -0

@ (- @) @) - @) ©- 0@ -

35
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32.  On which of the following dates Gandhiji asked the Indian people to observe a day of non-violey
opposition to the ‘Rowlatt Act’?

(1) 6 April 1919 (2)--13 April 1919

(3) 15 December 1919 (4)"'6 December 1919

i # 4 fa i = el 3 s i 1 fere T2 6 e follt 1 oot T 1 g
(1) ~ 6 3T 1919 @) 13 W 1919

(3 15 fewm=r 1919 (4)—6 TR 1919

33. Which of the following statements are true about the development of cotton industries in the late
18th and early 19t century colonised India ?

(@) Indian textile industry had to compete with British textiles in the European and American
markets.

(b) British market was now available for:Indian textiles.

(c) Exporting textile goods to England beggl_ne increasingly difficult.

(d) Bengal weavers were worst hit as Engh_g}:l and European companies stopped buying Indian

textile. e
Options : __;—-__
(1) (@) (© and (d) only @7 ), (©) and (d) only
(3 (a)and (b) only (4 (0 and (d) only
FSTEET IR 34 A AR Ifreell Wt o 9w § e sufrde ¥ Rl et e s % w0
H fafafea i 9 s A Fm g §2

(a) /Wmmﬁ@mm@ﬁﬁjmﬁﬁmmmﬁmmﬁl
(b) m@am#mmﬁﬁwwwml <
(c) « F9 I weqail 1 grcte ok Frata e QR Fie B

e 5 e IR At Sl 3 e we Te
faerea :
(IAE (@) (©) ¥ (@) @ @ (b), (0) o (q)
(3) e (a) R (b) (4) ¥ (o) 3K (q)
o8 o o [ [T TR 36 - £
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Consider the followin stat .
(A) : The Prairies are & Statements (A) and (R) and choose the correct option.

also known as the ‘G . ’
R) : Scientif: : e ‘Granaries of the world’.
(R) Sgﬁahf&-methods of cultivation and use of tractors, harvesters and combines has made
. 1ca a surplus food producer.
Options :

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true o o) .
(3) (A)is true but (R) is f als: ut (R) is not the correct explanation of (A)

(4) Both (A) and (R) are false

WM(A]HW(R)WWWﬁWHﬁWWWW:

(A):ﬁﬂﬂiﬁ‘gﬁmaﬂmu%m'%wﬁﬁmm%l

(R) : @ﬁéﬁgﬁﬁm IR TR F e WY 6 ST Y <R ST Y SR e S 39
EEll |

faerea :

(1) = (A) T (R) TR E, T (R), (A) F TG S E

(2)~ THI (A) 78 (R) W&, freg (R), (A) F1 & =amen 6 3

(3) (A) W&l & T (R) Tora 71

4) <FI (A) T (R) T §1

World Environment Day is celebrated evéf}-year on which one of the following days ?
(1) 5t May (2) 5thJune (3 5th July (4) 5th August
Frefated 4 @ for fet goish o waieren feoe s s &2

1) 5% @) 5 (@) 5o @) 53

Read the statements (A) and (R) carefully and choose the correct option.

(A) : Using resources carefully and giving them time to get renewed is called resource conservation.

(R) : Balancing the need to use resources and also conserve them for the future is called sustainable
development.

Options : |

(1) Both the statements (A) and (R) are true and (R) explains (A).

(2) Both the statements (A) and (R) are true but (R) does not explain (A).

(3) (A)is true I;,Ut ((I{R))ifs fﬁe. n

4) (A) is false but (R) 15 true. . .

;s)zﬁ‘f(A)aarr(R)ﬁ A | 9 qu ﬁ.ﬁ'{:@ﬁm@:

(A):muﬁmméﬁrﬁwmaﬁ_ﬁﬂaﬂmm%ﬁﬂww’wm . 5

faenea :
(1) A ot (A) T (R) T E T (R), (A) F TN 7w 3

2) < we (A) T (R) wd & A (R), (A) 1 = e e §

B) (A)T@ & Fg (R) T €
@ (a)Tem & g @) T

37
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37. What f wind Land and Sea breeze ? '
1) a g;ljjoz)lewm S anzz) " chl;[ winds 3) _Geasonal winds (4) Permanent winds
T8 YR+ 9o, Tore wE W S B § 7 |
(1) kAT 2) i T (3) - e e (4) o

38. Which of the following Kingdoms was established by Kadamba Mayurasharman ?
(1) Karnataka (2) Rajasthan (3) 'j‘iGujarat (4) Madhya Pradesh
Ffafaa 4 & = @ v wds w3 wenfa fEmara?
(1) wAREH 2) TR @) TeRE (4) HH T

39.  While teaching in a Social Science class, a student asks you - "how can we measure the distance

between longitudes on Equator ? What answer will be correct for such calculation ?

(1) Dividing the total length of Equator with 180.

(2) Dividing the total length of Equator with 360 :

(3) Dividing the half length of Equator with 36@?

(4) Dividing the double length of Equator with 90,

FEITe T et g el & U S 9 e - e e e e et i ¥ s 1 <t o
R FHA T2’ 3 A ¥ A IW A @M L

(1) Torgee e 1 e 1180 § fownfor o -

(2) forgera e e 360 A fafow wom) K

(3) foem T =t et o #1360 @ forsnferg e

(4) Toged T #i g o #90 @ faifig e

40. The most important factor that influences the dis

(1) Insolation or Incoming Solar Radiation
(2) Seasons

(3)  Asphalt of roads

(4) Crowded high rise buildings

I RS A F foreron ) gt T
(1) /amﬁawwqﬁﬁmwﬁﬁm
@ R

(3) OTFFE ¥ = weg

(4) g T I

qu_bution of temperature on earth is :

%,HEWW%:

p-11 (AR 38
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41. When it is 1:00 p.m. at Greenwich, what time will it be at 60° West and 60° East respectively ?
1) 5:00 p.m. :
@) p-m. and 9:00 a.m, (2) 9:00 a.m. and 5:00 p.m.
() 500 am. and 9:00 p.m. (4) 9:00 p.m. and 5:00 a.m.
EERCICEReTS lioommWMWﬁﬁﬁaﬁﬁemﬂﬁﬁﬂﬂmwﬂﬁﬁmi T A B 2
(1) 500 39T WM 900 Eier 9:00 e el 5:00 ST
(3)  5:00 THIEH T2 9:00 srorrey (4)  9:00 3TRTEA e 5:00 FaATEA
42. ; refers to a situation where a person does not have resources and opportunities that are
available to other persons.
(1) Hierarchy (2) Diversification (3) Inequality (4) Dispossession
T T o de At} e et s ¥ e e i st T 3 < o R
YT B
1) ot 2) fafafew (3) o~ STHATTA 4) @t
43. Which of the following is the correct sequence of rock cycle ?
(1) Sedimentary Rock, Metamorphic Rock, Magma
(2) Igneous Rock, Metamorphic Rock, Sedlmentary Rock
(3) Magma, Metamorphic Rock, Sedlmentary Rock
(4) Igneous Rock, Magma, Metamorphic RC‘
frefafaa § ¥ S =6 w1 T FH 7?2 e
(1) oTaam e, FmEiaRd dd, J
(2) .~ g 9, HrFaRd 31, SFerEr St
(3) s 9, e e
(4) e e, A, FERT 99
44.  Who among the following worked with leather jf?rkers in Central India and also started Satnami
Movement ? C )
(1) Jyotirao Phule (2) Ghasidas (), Haridas Thakur (4) U.B. Phadke
frefafaa § @ e weT W@ | aqgmwwm%mﬂm%mmwmmﬁgﬁm
0t &t ? e
1) e ()7 TR (©) T agy @) 7. weF
39
R TN E

-
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45. Match the following and choose the appropriate op.lion.

A B
(@) Punch marked coins (i) -Stamped glazed pottery
(b) Northern Black polished ware (i) Tall double handled jars
()  Amphorae (ii) ~Extremely fine pottery
(d) Arretine ware (iv) _Stamped with symbols using dyes

M) @-@)0)-0,0- 60 @-6) @ @- @) 0- @06 d-0
G @- G ®)- i) ©- @), @-0) @) (@)- (), b)- @) © - (i), (@) - )
ﬁﬂﬁl’(ﬁaaﬂﬁﬁﬁﬁmﬁmmﬂaﬁmmwmﬁqﬂﬂm

A B

(a) Teq fosh () TR T THRSR qA

(b) ST FIA THRI T (ii) el SreY gl STe qr

(@ Uwrm (i) - forgt 3 g & Y SR Gy A
d) W A _(w ) £ ¥ i & feri ) e o g

M @- @) G0, ©-6@) @-6G @ @) 6)- @ © - @ @-6
@ @0 0-@@-0 @ &6 60,06 @- 0

46. Reservation of seats in legislation and in Governmen

‘jObS was granted by the Indian Constitution
to: =

(A) Compensate for low grades and marks scored ifi School and University examinations, because
of which people were not able to compete.

(B) Compensate for years of historical suppression and educational deprivation,
(C) Appease people for political support and rally as vote banks.

Options :
(1) Only (A) (2) Only (B) .
(3) Both (A) and (C) (4) Both (B) and ©

mﬁmmﬁmﬁﬁﬁwwﬁ%ﬁﬁﬁwmﬁmw:

(B) = & Afiees <o qen o <ifeen 3 gl 3
©) ﬁzaﬁ?ﬁwfi“ﬁﬁlﬁ?mﬂqawiﬁﬁ%ﬁmvﬁﬁaﬁ@mg@

faened :
(1) Had (A) @ )
@)/ (8) (O (4)  (B) 3R (C) MY
p-1r [0 40 .
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According to the Uttarameryur inscription, who could become a member of a Sabha ?
(A) The owners of land from which Jand revenue is collected.

() They should be between 25 and 70 years of age.

(C) They should have their own houses,

(D) They should have knowledge of the Vedas.

Options :
(1) Only (A) (2) Only (A) and (B) -
(3) Only (A) and (D) (4) Only (A), (C) and (D)

T AN F TR T &1 9 £ 3 Tt o1 ?
(A Tt fH 1 @R SRl Y ST e S -

(B) ¢ Seht 39 25 3R 70 % <= et wfew |

(C) e TH ST WX B =1 | B
(D)o~ 3 Q) 1 FH a1 =1feT |
(1) X35aa (A) (2}%1—% () R (B).—
(3) Faa (A) 3 (D) (@) ¥ (A), (©) D)

Which of the following is true about common property resources-?
(A) These are owned by government.

(B) These are owned by private companies.

(C) These are owned by communities.
Options :

(1) Only (A) and (B)

() Only (B)and (©) |
F@aﬁﬁmﬁ%aﬁﬁﬁﬂﬁﬂwﬁ%?
(A) ﬁmwmﬁmaﬂ%l %

(B) W st cperTl B e B €|

(C 7wl o e A€

(2) Only (B) e
(4) Only (A)and (Q) -

: @ ¥ (@)
1) Faa (A) 9 (B) |
(3) ¥ (B)(©) A WO
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49, i :
Diversity came With something new and different dueto -

(1) Itermixing of cultues (2) Gengtic composition

) Similarities and identical traits  (4) Homogeneous population

(1) el & wom o (7)o T

() T SR o wahi & W () /ﬂﬁﬁﬂﬂﬁwa‘fm
50. Consider the following statements about grasslands and choose the correct option.
(A)
(B)

Climate plays an important role in the formation of grasslands.

Annual rainfall is moderate in Prairies while velds could face drought in winter mopgh

(C)  The vegetation cover is sparse in Velds.

D T ; L%
(D) Velds lie in the Northern Hemisphere while.Prairies in the Southern Hemisphere.
Options : = =

(1) Only (A), (B) and (C) are correct. g
(2)  Only (B), (C) and (D) are correct,
() Only (A), (C) and (D) are correct
(4)  All(A), (B), (C) and (D) are correct,

Q) ﬁ@qﬁmﬁrmﬁw%u
(D)~ SeS® S ermg # uran s & wrrfin
faaea :

(1) o<Had (A), (B) 941 (C) W |

S e v

(2) "N (B), (C) 791 (D) &) ¥

(3)\/\4_“?' (A), (C) 7o (D) et €1

@ (A), (B) (C) 71 (D) Wit §
p-1r (AT i
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ich of the followi ]
W O, owing statements is/are correct about planets ? -
(A) They are lit by the light of the stars.
(B) They are made up of only rocks.
©) All planets have their moons.

Options : :
(1) Only (&) (2) Only (A) and (B)
() Only(B)and() (4) Al (4), (B) and (O

@ F AR Frafafed § § She/Q s e g
() & TR % TBI TR A € ]
(B) & e =gHl = 2§
() Toft 71 ¥ 39 =g B B

forened
(1) (A) (2 % (A) T (B)
(3) *had (B) 7 (O) 4 (&), (@) (©) Tt

ments and choose the appropriate option.

Read the given Assertion (A) and Reason (R)"_s_’t_éﬁ"ée
f iron smelting declined and in most villages,

Assertion (A) : By the late 19™ century, the craft o
furnaces fell into disuse. e

Reason (R) : The iron smelters had to pay a very high tax to the Forest Department that reduced

their income. -~
Choose the correct option. —~
(1) Both (A) and (R) are true
(2) Both (A) and (R) are true but (R) is
(3) (A)is true but (R) i false.
(4) Both (A) and (R) are false.

and (R) is the correct explanation of (A).
not the correct explanation of (A).

fmnqaqﬁmmm)m'wm)aﬁn%aﬂtmwmwgﬁq:
iR (A) : WW%MW@%Q?W#TWWW@wwwwqﬁﬁW
s € T
AN
o - %aﬁt(A)ﬂ(R)ﬂﬁﬂT@Tm%

(1) Aa) e @) T T
2 (A) aiR (R) S T
) (A)g@%am(mﬂaﬁ%'
@ (a) s @ 3 T E

%W(A}ﬂ(mﬂ@maﬁm%l
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53. Which of the following are correctly matched ?

Agricultural Practices Description
(A) Subsistence Farming - Practiced to meet the needs of farmer’s own farni]y
(B) Intensive Subsistence Agnculture - Prevalent in the thickly populated areas
(C) Shifting Cultivation = - People and animals move from place to place
Choose the correct option. .
(1) (4)and @B) S5 ®ad©
(3) (A)and (O e 4) All(A), (B) and (O)
= 85 @ A g wd gﬁrl%m%?

F i - Ul
(A) frafe =y = % TRER i SAEvFHale &l U H & ¢ H 517 3)
(B) A fERFEN o EEn e & W e A ¥
(C) =i Fiy - o iR g O e R e I W WR S
e WA W
(1) (A) @ (B) ~l @ o
B (A)T(C) : @7 (8), (B) 3R () i

54. Consider the following statements on non-Brahman movement and choose the valid option :
(@) The movement came from non-Brahman castes that had acquired access to education.
(b) The movement argued that the Aryans were the indigenous people.

()  The movement came from non-Brahman castes with wealth and influence.

Options :
(1)  Only (a) and (c) are valid. (2)  Only (b) and (c) are valid.
(3) Only (c) is valid. (4)  Only (b) is valid.

MR- maﬂaﬁmwﬁwhﬁaamwﬁaﬂaﬁmsﬂﬁuﬁwgﬁq
(a) & ST R-3reror nferlt & e ey e oo T W S o
(b) ST fe o o i et v 4

(c) V’a‘aﬂ““ﬁt"ﬁmmﬁlﬂﬁmﬁﬁ%m SRR

./‘?'m'a'c'”l(a)aﬂ? @agE (2) e (b) 3R () 99 ¥
3 Fad () 99 71 @) ) A
[T 44 E
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(i) Pots were used for cooking food,
(iii) Cloth was woven using different kinds
(iv) Use of stone tools began,
Choose the correct option.

O @ and (ii) only

(3) (i) and (iv) only

of material. -

(2) (), (i) and (i) only

: 4) (), (i) and (iv) only
ﬁqﬁ@aﬁﬁmmﬁwmw AT RN
() e IR qEE H W s ) e 3 e e e

(t) S T AT TS 3 fow o s e

(iii) - T wohR =t =S @ 2 o 9w 9

(iv) TR % SNSRI 1 JE IR & |

et faered =1 w9 Sifsu) :

(1) et (i) AR (i) (2)7 %= (i), (i) S (i)

3) wad (i) AR (iv) 4) wHad (1)(E)ai’n (iv)

Read the statements (A) and (R) considering the art for_ti__is in colonial India.

Assertion (A) : Colonial rule introduced several new:g{_t;forn'ls, styles and techniques.
Reason (R) : These were creatively adapted by Indian artists for local patrons and markets.
Choose the correct option.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false. ; oo |
aﬁlﬁa;aa;rzaﬁﬁﬁmmﬂ#ﬁﬁﬁﬁwm)ﬁ@mqa:
s (A) : s e 3 HE T F T T, Al iR e < g
T (R) : ﬁmmﬁﬁmwm-%wﬁmﬁﬂwﬂﬁwﬁl
(A s (R) 2 T E STA) 1 (R) T SIS AT |

& aifer (A) 1 (R) FE A TR e
@ (a) 3 ®) 3 _

(3) (A)@%@W(R)W%|
(4) (a) i (R) ST &
45
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57. Maps can be best used for
(1)  Arranging sequence of events in history
(2)  Elaborating on the most important events in history
(3)  Studying lives of people living in differ'é'n-f times in a logical sequence
(4) Marking places where people have hved at different points in history

uﬁﬁamﬂamﬁmﬂﬁmmam%7

1) zfiee § weel i g w0 ¥
(2) e § Wl S W Wi faga w01 ¥

(3) T HHA R T At < % SHie Bl AT ale @ ey 39

(4) ~Sfaem o w-wwﬁﬁﬁmﬁm%wﬁlﬁﬁﬁam%ﬁ

58. Which one of the following is incorrect ?

(1) The Arms Act was passed in 1878, dis}illd;ving Indians from possessing arms.

(2) The Vernacular Press Act was passed m 1880 to support the Government.
(3) In 1883, there was a furore over the attempt by the Government to introduce the Ilbert Bill.

(4) The dissatisfaction with British rule intensified in 1870s and 1880s.

frafafad § 4 37 o1 98 76 27

(1) 1878ﬁmmmmwmaﬁqﬁmﬁﬁmmﬁwﬁwr@ﬁmaﬁwzﬂqm
™

(2) Wmmﬁhmﬁ%ﬁqmsoﬁaﬂhqmﬁnwmﬁamwmn
3) 1883‘?W#Wﬁammwmﬁmﬁﬁﬁmmmgam
(4)\/187oaﬂ11880ﬁ?3maﬁﬁﬁﬁww%uﬁ{maﬂtmﬁrm:@m
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ad the statements (A) an
59, Re o . (A) and (R) and choose the appropriate option.
(A): Raja Rammohan Roy founded reform association known as the Brahmo Sabha in Calcutta.

. He felt that
(R) : g?th, at changes were Necessary in society and unjust practices needed to be done away

Options :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false. -

fow T FA (A) 3R (R) B v Sver foerew 5 -

(A) : TS THAIE U9 3 FHiersal § srahi o & T F T GURART F73 S o |
(R) : & A & o Wt & afterds o Sik sl di-aie § geehm T S |
1 (A)afﬂ(maﬁfﬁ%a?km)-ﬁ(m@%mm%

) (A)aﬂt(n)ﬁuﬁ%ﬁmm)ﬁ(mﬁémaﬁm%n

3) (A)T@ ¥ & (R) ToE ¥ C
(4) (A) 2R (R) I T €

60. Who among the following are elected members of the Local Governments ?

(A) Ward member (B) Parlchayat President

d C i1l
(C©) Secretary (D) Ward Councillor

Options : |
(1) (A)and (B) only (2 ;(A) and (D) only
(3) (A), (B) and (C) only (4)(A), (B) and (D) only

(A)/ = G B
© um WD) e
ﬁm: \aﬁ(rl
() Yo () 3 () ﬁ o (#) ¥R ()
6 = (), @ O BT
T Y |
I E
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61. Rohit found that some children in his class could not explain the position of latitude and longitude
lines on the map. What should Rohit do to help children acquire this competency ?
(1) Case study (2) - Empirical research

(3) Action research (4) — Applied research

A 3§ w1 T SaHt T80 ¥ To T WA R Y o e v i e e T o
Sl 1 THH W T H g e % g Afed e R =i ?

(1) =9 IR (2) __ ST STTHE
(3) T STy (4)_ IR STTHUH

62. Select the reason behind the low wages paid for agricultural labourers.

(1) They are not skilled.

(2) They depend on land owners for a regular work.

(3) Most of them do not have their own l:andg

(4) They are satisfied with wages prevallmg in the market.

@ﬁam@ﬁﬁaﬁmﬁwq@%mmwaﬁi
(1) 9% TE e

(2) »3 T frafua =@ & faw gfy mies ) fek 2w €)1
(3) =T A sty Al % U STl SHIA el et §

(4) 99w A i W@ egd 4 g €

63. A belief that science requires a technical mmd and girls and women are

not capable of dealin
with technical things signifies ; capable of dealing

(1) Stereotype  (2) Casteism  (3) Illiteracy (4)

[gnorance

mmﬁﬁaﬂ%mwmmmﬁm@waﬁwm Hfeemd qeftet S 9
firued w7 ¥, Te i & ke

(1L/€ﬁ;ﬂz RO (2)  Siferg (3) frewam @) S
@l [T 48 E
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gmall workshops and factorieg Prefer

to employ casuai workers because
(A) state has already taken care of workerg’ benefits

(B) they can be ﬁIEd WIthOUt any PI'IOI' notice

€ most of them are not literate

(D) they could be paid lowest possnble wages

Options : -

(1) (A)and (B) (2) (B) ali_d__(D) 3) (C) and (D) 4) (A)and (C) |
wmﬁwmﬁwﬁﬁﬁmaﬁmaﬁ%m
(A) T4 7 T & At 5 o 1 e v g &

(B) < form forelt & few & St I Forewren o1 v &

(C) 374 | Aferrin forfema i o €

(D) = g Hetifere S fearm <7 weherl §

O wERE @ O aﬂiﬁjib) ® OO @ ™IRO

(A) The Government of India Agt _1909, allowed for some elected representation system in India.

(B) Through Government of India Act 1909 all adults were given the right to vote.

Choose the correct option.

(1) Only (A) is true (2) Only (B) is true
(3) Both (A) and (B) are true (4) Neither (A) nor (B) is true
et o () @en (B) 1 T '

(4) 1909ﬁaammmmmﬁ§“““w‘““a"““'ﬁ‘“ﬂaﬁm@maeﬂl
&) wogamaﬁzmm@gwqﬁmﬁahzmﬂﬁmmfwﬁmwl

W forere o1 = G|
(1) ot (A) & € (2) ae (B) W R
31y e (B) 3 ¥ € (@ WA TEE ST G () w3
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' tudents b
66. Social Science curricular activities can be made more engaging for s v

(1) incorporating technology and multimedia resources.

(2) focusing only on the most important historical events and figures.
(3) emphasizing memorization of facts and figures.

(4) reducing critical thinking and discussion in favour of lectures.
Wﬁ?mwﬁiﬁﬁaﬂw%ﬁnﬁﬁmﬁﬁﬁﬂﬁwmmmw%:
(1) Frehfrt sl e w1 i F

(2) et e e e SR sl W S e w5 A

(3) e iR S H I FH W IR A Y|

(4) SETR F U8 § e | 3T == 1 HH B 9

67. Critical thinking is important in Social Science because :
(A) It helps students to pass exam. __ A
(B) It allows students to guess the correct anséb'_’er;
(C) It helps students memorize information mo;e easily
(D) It prepare students for higher-level-thinki:%z
(E) It promotes problem-solving abilities ;
Choose the correct option :
(1)  Only (A) and (B) (2)  (A), (B) and (C)
(3)  Only (A), (B), (C) and (E) (4) Only (D) and (E)
gmEfs faam # qurcireHcs 9 geeyul § Hif
(A) Te 2T H THET UG FA § HEE H B
(B) @ BT 1 el I H STTAM TNt STfa et &)
(C) = Bhil =1 sifyeh STaF § SFH A WA B Weg F ¥
(D)J{Eﬁﬁﬁmmﬁaﬁmﬁqﬂmﬂﬁl

(E) /T UHPI-THIYH 63 &1 &Ha1 1 Wieaniad 6wt &

el fosmed &l w97 i . |

(1) ET [l (A) 3R (B) oL A @) (A), (B) GT?R ©

(3)(7( Faa (A), (B). (C) R (E) \(9/ Fae (D) &k (E)
P11 [T 50
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what does it mean to use the dialectic

; ; approach to teaching in the Social Science classroom ?
1) Using dialogue between student

r and teacher as the main method of knowledge generation
Using drama in the claggy -
2 00m to generate interest in students

. 1 .
0) Using examples and analogies to clarify abstract concepts

(4) Using maps and atlases to enrich §tudents’ understanding of Geography
A (T T e & e v 35 v o e 42

(), 3 Torm S it 35 5 4 et e e 3 e et o1 e
2) Wﬁﬁﬁmm%@mﬁ?ﬁmmm

(3) SR STAURONSA <hY T ey ¥ SERNN U Wgwd 1 WA A
() Torenfe =t i =) wvm g T 3 AR T Tee 1 W

The teacher divides the children of her class into 4 groups and gives them to wr.ite the names of fche
sources of water and then discusses the sources of water with each group. Which of the following
he/she is attempting first as part of 5E approach to lesson plan ?

(1) Explore (2) Evaluate.!  (3) Explain (4) Engage

e STt e 35 s B 4 T favfeT R T 3 s 6 fera 9 3t & iR 5w 9 e
W@Hﬁ%@ﬁﬁmﬁﬁfm%IW%S%W%WE’EWﬁ@ﬁ?WWWW
FI? et

(1) /390 HTAT (2) :qum @) fowm e QX T HET

Indian Constitution lays down ————

(1) the national curriculum framework
(2) the basic laws or rules that have to be followed by everyone
e basic

. = » g ti ns
(3) the structure of religious institutio

in ial movements that seek to challenge the Gov n
. i -ation of people into socia ¢ ge the Government
(4) norms for participatio

el wifer Frifd €

51
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: : dents ?
71.  Which of the following topics are highly appropriate for middle level studen

(A) Contribution of Mahatma Gandhi in history.
(B) Economic development of India.

(C) Status of Women in present scenario.

(D) Reasons for population growth.

Options :

(1) (A) and (C) only (2) (A)and (D) only

3) (B), (C) and (D) only 4) (A)/(©) and (D) only

ﬁmﬁf@aﬁﬂaﬂqﬁﬁwﬁ%ﬁ@aﬁaﬁﬁ%maﬁiwﬁ?

(A) _zfer ¥ Here i it Ae :

(B) «RA I e forehrd -

(C) dum ufigya # wfecrsti =i feafa

(D) JAS=EEA gfe % w0

Ta&ea :

(1) & (A) 3R (C) m/wf (A) 3R (D)

(3) & (B), (O) 3R (D) (4) %I (A), (O ¥R (D)
72. In a field trip which is the first skill to be develope_fd-__ j_among students ?

(1) Analytical skill (2) Observation skill

(3) Experimentation skill (4) Reasoning skill

T G- yHu F o fanfedi § frm whea #1 v fawiad wen =ied ?

(3) wE B @) TP

73. How can a Social Studies teacher develop social values among students ?
(i) Developing sense of discipline
(i) Behaving in the appropriate manner in school/class
(iii) Asking Students to watch commercial movies

(iv) Follow appropriate democratic values in class/school setting
Choose the correct option.

(1) Only (i) and (iii) (2)  Only (i), (if) and (iii)

(3) Only (i), (i) and (iv) (4)  Only (iii) and (iv)

Tk s forar ek ferenfeldli & fora wanm wmifes el < Forerfiorm o wrera 2
() ST & WE H fae w0

(i) THEVFET H SUTHR BY | AR FH

(i) ferenfedi =1 At firen S 3 e s

(iv) " TREN H ST it Tt B e W

qe faeey &1 E Bl

(3) e (i), (i) 3R @) @ 3 i) ot )
| o
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From Specific to G
A p eneral (B) From Complex to General

() From Known to Unknown (D) From Analysis to Synthesis

Choose the correct option.

(1) (A) (B)and (C) - @ (B, (©and (D)

@) (&) (©) and (D) (4) (A), (B) and (D)

frefefian & & =1 it Rueor fafiral wmmfoe fmm & on @ ke § TR (FoeT) g S9EH €2

(A) - fafkme & dm= 7 (B) wifed W WM T
(C), I ¥ M TH (D) oo | Heetyu d
(1%«), (B) 3R (C) '_”(_2 (B), (C) 37 (D)

® () (© D) (4) SRULLD

- Which would be the best teaching pedagogy to understand the trends in poverty in Indian States

and Union Territories ?

Debat:
(1)  Field trip 3 (?;‘-_) Ve

() Secondary data analysis ~(#) Dransorming

W i m%mnfaaﬁﬂﬁﬁﬁmﬂﬁ et T S e ST B FHG ¥ wataw e
Sl womedt s | 8w 7

(1), &= ymur g
IERIRER Btz
B/ e el 1 Foreer @ i )
" 53
' Wﬂllmlllﬂlmﬂlﬂmm'elegram - @HaryanaJobs.in E

h




Join Teltegram—@Heryaradobs:in R

76. Match the fo!lowing and choose the correct option.

% B
. Stops in a rocess
(A) Narration charts (@) bleq, thform of table
(B) Relationship charts (iiy data lf‘! W
(C) Flow charts (i) hisialREee. R lationships
la
(D) Tabulation charts (iv) show pts-and-effoct £ '

m(mmwmmmwmm(mwm@q&%ﬁ
(3)  (A-v), B)-Gii), ©-Gi) O-() @) (@), B)-(id), (O-1v)

= 1 e &Y oik e faerew &1 g A -
A B
(A) oo = () T & T

(B) Hey =@ i) ifereRl & 9 W SA
© R /m)
(D) FrofRtor = (iv) <hrd-hror Wl i quidr €

@ (A)-Gid), B)-Gv), ©-() O} ) (A)-Gv), B)-D. (-6, (D)-(i)
(4)  (A)-Gv), (B)-G), -, OF0) @) (A, B)-Gid), ©-Gv), (D)-G)

77. Sixty-Percent weightage is-given by the teacher to oﬁ‘éﬁ-énded questions in a Social Science question
paper. Which skill does the teacher want to test among students through this strategy ?

(A) Writing skills only

(B) Intrapersonal skills

(C) Logical thinking and creative skills

(D) Application and presentation skills

Options : |

(1) (A)and (B) only (2) (C) and (D) only
() (A), (B) and (C) only (4)  (B), () and (D) only

m%mmﬁmﬁm%wwﬁm%mwwmm@ Lk
foreres B & fohg e &) <ife e 2 ? AT 1 R

(A) *FTA TG BRI

By Fqdafaa A

() A foi T e

forered :

(1) FaE (A) ¥ (B) () =@ (c) st (D)
(3) ¥ (A), (B) ¥ () () A (b), () sik (b

p-11 AN ARIr o 54 ‘ .
e R a0 o LT
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(1) The work of the Gram B
2) The Gram Sabhga SECretary : pproved by the Gram Sabha.

(3) The Gram Sabha Secy
Panchayat.

The Gram Sabh )
X : ET eErEitiy keeps a record of the Gram Sabha meeting proceedings.
7 A F AR H e ﬁﬁq_mmm%?

M mﬁw%mﬁmwwﬁﬁaﬂm%v
@/mmﬂaﬂqﬁa@ﬁaﬁa@ﬁaﬁ%m '

(@) 3T 5 I 5 T 1 s e - g

(4) Ww%vhammmmaﬁéwaﬂzwggaﬁaﬁwﬁmm@mm%l

etary

79. The objective of establishing Panchayati Raj institutions in India was
(A) Participatory governance (B) Cultural homogeneity

(C) Democratic decentralization (D) Religious diversity
Choose the correct option, )

to achieve

) Aand®) @ @Band(© = @) (©and(D) @& (A)and(©Q)

W H YT T S T w0 Sufsia ST o)
(A) e gR e (B~ i e (mw)
(C) it Fobeeren (D) i faf

0 @k, QBFROT @O OFD @ wakg
8. Read the statements (A) and (B) and choose the appropriate option.

Statement (A) : Contemporary challenges to the principle of a democratic soci
such as those between individual rights and social responsibili

Statement (B) : Within a social science classroom, conflict resolution a
engage students to study "Problems of democracy’,

(1) Both (A) and (B) are true. (2) Both (A) and (B) are false.

()  (A) is true but (B) is false. :j(4)_: (A) is false but (B) is true.

T (A) St (B) 1 gy aen S FoREd = FHI

F (A) : it A & fagidl @ ERE T SR s
Il % = faak | =

HUT (B) . s T A & S, TH B WA F st
feyae QY SUTH 1 AT feRAT ST WA ¢

(1) () aik (B) 2T =& €1 (2)  (A) 3R (B) i Tor ¥

B Aayw@zerm@ @t (@) (A)TE AR (B) w3

ety are conflicts
tes.

Pproach could be used to

SR SR wrfes

Toenfell o <o v 3 fora

U o 5% -
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:on of the following,

: the correct option

81. Consider the statements (A) and (B) and choose ner’s Progress throughout the teﬂchjng

; lear
Statement (A) : Summative assessment monitors the
learning process.

. end of the course.
Statement (B) : Formative assessment i8 conducted 2% i) e]: false
are .
(1) Both (A) and (B) are truc. (2) Both e i}) is true
; t .
(3)  (A) is true but (B) is false. (4) (A)1s faldbit

W(A)aﬂt(nmﬁmﬁmmﬁmﬁf@aﬁwﬁﬁmwwﬂml
HUA (A) : T Siawer, mm-#mgm%gsﬁ_:ﬁawﬁmﬁfﬁmwﬁﬁmm%l

HUA (B) : T SHier WA ¥ 3id # Tl ¢

(1) (A) 3R (B) 3 =& ¥ @) (A) 3R (B) S e €
(3),/(A) 7 & T (B) o #) @ (A)TEE ¥ T (B) T

82. . Which one of the following statements is correct regarding the nature of Social Science ?
(A) Social Science is a dynamic subject that generatesi___-;é__l_i_abate and discussion.

(B) In Social Science only individual human relationé_; age considered and not the accounts of
individual actions. e

(C) Social Science is primarily interdisciplinary sub]ect with a focus on discovery and
experimentation. E o
(D) I"I‘he I‘scope of Social Science is very narrow and he_r_E:e it is fit to teach it only at the primary
eve ' i
Options : _ LS
(1) (A)and (C) only (2) (C) and (D) only
(3)  (A), (B) and (C) only (4) (A) and (B) only

._ Hmmﬁmﬁmaﬁﬁﬁt%nﬁaﬁﬁnﬁﬁﬂ?mwxq@%?
(A)- mmwwﬁm%ﬁhaﬁ-ﬁmaﬁkqﬁaﬁﬁmm%n

(C) mewﬁmﬁ%mhﬁ%mmm%l

(D) T o ma@ﬁmﬁwww--ﬁ%wwmﬁﬁwﬁl
(1) (W S0 @ ¥ Q) s ()
) (A), (B) ¥ (C) ) () e g
o AT 56 ¢
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d _—
g3, The Independence of Judiciary impijes .

84.

the legislatu ) .
(1) . 815 - re and the executive cannot interfere in the work of the judiciary.
2) the judiciary can direct the legis]

ature to frame a iate laws.
(3) the judiciary can direct the exec L

i utive to implement the laws properly.
e judicia
Q ] Ty can work under the pressure of legislature,

S EEINECIRCRE LR | 8-
ﬁmﬁmﬁ%,%%mﬁm@qﬁmmﬁl
EICRIE ﬁmﬁMﬁwmﬁmﬁmwmﬁhémﬁl

3), AT, B! W) &0 % e 1 et e o1 Frde & Wt &1
) SR STERAHA B N =Arifersw, faenfam 3 o 3 Hm 52 g6 31

if required.

Which of the following questions promote critical thinking ?

(A) What are the different ways through which the Government can take steps to provide
healthcare for all ? Discuss. &=

(B) Examine the statement : As compared g_o‘i'mazon, pollution in river Ganga will affect human
life greatly. =

(C) Differentiate between the physiograph_'}"r_"'-_qgf Brazil and India.
(D) Describe important features of Himal%yisf.
(E) What was the role of the Zamindar mMﬁghaI administration ?

Options : 'St
(1) Only (A) and (B) (2) Only (B) and (C)
(3) Only (A), (B), (C) and (D) (4) Only (B), (C), (D) and (E)

ﬁwﬁmﬁﬁﬁﬂﬁmwwﬁmiﬁ%?
(A) 3 fufers i o ¥ o G TR S TR F S O ¥ e v v €2 W
Hifsq |

—(B) aﬁqqaﬁ@amﬁWﬁﬁgmﬂﬂa?ﬁ%ﬁWWQumﬁamlwﬁﬁam:
4©) i e o 7 - 3 A % T

! (D) festera it et et 1 7

by
WYL e gram - @HaryanaJobs.in

-

(1) e (A) 3R (B) : @SR

3) aw (a), @) © FRO) (4) " (B), (C), (D) iR (E)
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modern Adivasi history, during the

jgion in
85. Which of the following emerged as an important religion

nineteenth century ?

| b 4) Islam

(1) Buddhism (2) Christianity () Hinduism W= S

ﬁﬁwﬁﬁmmﬁmﬂﬁa@mﬁw“ﬁ@a@ﬁ A
' ) T

(1) i @ fmw g =

; f black and colo
86. Nelson Mandela spent 28 years of imprisonment along with thousands © ured
people. '

(1) for opposing apartheid and struggle against policies of segregation.

(2) to get punishment for offence.

(3) to get powerful positions in Government.

(4) to raise voice against King and royal monarchy.

@) Ty F g we oE & fau)
@) W waed e w s faw o :_
(4) wﬁawﬁ#mmwﬁ%m'n

87. A teacher wants students to understand the functioning of governmental bodies like Village
Panchayat. Which of the following source of data collection will provide first-hand and authentic
information ? _

(1) Newspaper articles (2) Field trip
(3) Biography (4) « Textbook

o furfeen <edt & o orF T e S ST Pl & wree  wed ) fratafes § @ @00
SIS HIE 1 B e TR FHITUE SThRT WG 6T ?

(1) FEE T (2)~ ST A
(@) St (4) TSI
p-11 |JIIHIIWII (LY 58 ! g
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wWhich of the‘following
critical questions ?

(A) What is the southernmogt
(B) Is the Sun a star ? Why ?

(C) Why does more population resice in the Northern plains ?

(D) Between which two countries g the Pak Water Treaty located ?
Options :

(1) (B)and (C) (2) (B) onl
(3) (A), (B), (C) and (D) @ () Zm};

it TOEF S0 90 0 01 % 3 1 9w aromen i st v # A0 8 o €2
(A) Temer & W <feolt s ) o g w32

(B) Y TH AR ? Fi ?

(C) 0 M & sHferr e fraw i e 32

(D) Ik T HY o7 <1 A & < feom 22

famea :

1) B3 Q) @ @)

3 (A), @) (© R (D) (4) ¥ ()

questions agked by the teacher come under the category of exploratory and

part of the Himalayas called ?

Which of the following questions assess thei‘_iémfluaﬁon aspect of cognitive abilities ?

(A) Poshan Abhiyan is an important progrfg};g:ﬁie to improve the nutrition level of Indian children.
Examine the statement with evidences.

(B) Colonial rule in India for two centuries léft India with irreversible social change in India. Do
you agree with this statement ? Explain.™

(C) Describe the important features of Jan Dhan Yojana.

(D) Poverty and unemployment in India has declined in the post 1991 India. Justify this statement.

Options :

(1) Only (A) and (B)- (2) Only (A), (B) and (C)

(3) Only (B), (C) and (D) (4) Ony@Qand(D)

Freifofag 5 @ S @ ToT SRS SHART & eI 981 hl Shd € 2

(A) oy sifirar T T 3 SRR G O T He s | e e w1 wira

(BVﬁmmﬁﬁ%mmﬁaﬂqﬁaﬁﬁwﬁ_mﬁaﬁaﬁmmqﬁaﬁqﬁmﬁmm%I
ﬁw%?wmlﬁ
(C)/Hﬂmmaﬁnzﬁiﬂfﬁmaﬁmafhﬁml
(D),lgglﬁ;mﬁmﬁﬂ'ﬂﬁﬁwi‘m ___ﬁﬁwaﬁ%lmmmaﬁﬁmmwl
feremen ~
(1). Faw (A) 3R (B) (2) e (A), (B) e (C)
(3) et (B), (C) ¥ (D) (4) ¥ (C) M (D)

59

i ;
UREMYUIIL, o o ram - @Haryanadobs.in |




Join Telegram - @Haryana’obs.in

90.

on Act, 2009 as part of evaluﬂtign

. : Educati
Which of the following aspect is consid ered in the Right to

procedures ?

A ' s ic Constitution
(A) Confirm with the values enshrined in the Indian

o . ; :ve agsessment
(B) Examination should involve mainly gummative 2

(C) Development of the physical abilities of Jearners to the fullest extent
(D) Examinations are conducted W_ithin the school premises

Options :

(1) (A), (B) and (C) only

@) (A), (C) and (D) only

(3) (A)and (B) only

(4) (A)and (C) only

ﬁmﬁﬁaﬁﬁﬁawmﬁmmaﬁwaﬁﬁm 2009 T T Hrd faftdi % w9 & w9 5 f
frm T §? Y

(A) wmmﬁm@a@mmﬂm

(B). &N # qEAT: Wﬁ%mmmaﬁq
(C) ferenfefdi =t st amanedi 1 0f W ek T

(D) + Thend whet afer # € &l €

—— -

@ @@, @O

() FaE (A), () R (D) |

@3 (A) ¥ (B)

@) FE (A) IR (C)

prr WA 60 g
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i bundance of everything but space, colour
€ Tight ambience and perhaps the space that you crave for.

al to create mood through sheer appeal to the senses, right
ate the spacious feeling.

us potenti
S you cre

instance, i : ;
fnc: glgsaﬁVe?’Pgit:;gaolfitltlliu};glg plain monotonous colour on all four walls, if you get a little
the ways would be to blend E » YOU can create a sense of space within those four walls. One of
R rha s ol nd light and dark colours. Or to paint two opposite sides in a lighter
sha ‘the other two. Colour can add height to your room too. For instance, if the room is
P"’“_I‘te"'1 1.~h1te_ and the upholstery of your furniture is in deep blue tone, the false ceilings could be
pau;tled in a light blue shade. Think out of the box to give even more interesting effects to your
room.

use of colours actually help

Whatever your choice is, there are options in the market to help you realise your needs. These days
you get special patterned stencils to decorate walls with interesting patterns like flowers, leaves,
birds etc. Some people draw an entire scenery on one side of the wall to give the feeling of bringing
the outdoors inside. The choices are many, so are the creative ways. Just let your imagination flow.
Every room reflects the personality of the occupant, hence it is important to pay attention to every
detail. Your walls are your canvases, freshly painted and all bare. Go ahead, splash colours and
watch the effect unfold. '

‘To think out of the box’ does not mean to think : :
(1) creatively and imaginatively (2) about novel ideas
(3) in unusual ways (4) traditionally -

Complete the given word analogy :

- : 9
monotonous : dull :: ambience @ —i—
(1) room (2) temperature (3) aura (4) weather

Read the following statements :
(A) Colours if used creatively ¢
(B) Space is abundant nowadays.

ination on
C i lour combination
(C)  The right co (B is incorrect

an give the perfect look to a'room.

walls and the roof creates a spacious feeling.

(1) (A) and (C) are correct, (B) b

) (B) and (C) are correct, (A) 1st1 :
11 correc

:i; B £ a ect, (B) is correct

(A) and (C) are incorT
61 E

Ry nnmmimielegram - @HaryanaJobs.in



Join Telegram - @HaryanaJobs.in '

94, As : ;
rooﬁeig?oned by the writer in para 2, some ways by which you can break the monotony Of the
1) bY blend'mg light and dark shades
(2) painting all the 4 walls in plain colours
(3)  both (1) and (2)
(4) (1) is correct, but not ()
95.  According to the writer, it is important to pay attention to the colour scheme of your pq
because : & ;
(1)  the ambience created makes it look .’t-)c.)ring
(2) it reflects the personality of the owner
(3)  the walls reveal the secrets of your life
(4) the monotonous shades add life to the rooms
96. The word opposite in meaning to the underlined word in the given sentence is :
‘Right use of colours actually helps you create the spacious feeling’.
(1) cramped (2) airy ~- (3 fresh (4) . special
97. ;

?5 mentioned by the writer in para 1, In :tocﬁy’ s times, what is a modern day home owner longirg
or ? = g

(1) Colours
(3) Sheer appeal

(2)_ Space

(4) Imagination

98. Some people draw colourful sceneries on their home walls to :
(1) give a deeper significance to their home
(2) bring nature into their homes
(3) create a sense of space

(4) blend dark and light colours

99. Identify the parts of speech of the underlined words in the sentence given bel
elow

‘Right use of colours actually helps you create the Spacious feeling ’
mng’,

verb, adverh

con]unctign’ verb

po1r [ 62 |
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(1) adverb, noun (2)
) prepositionf verb (4)




gead the poem given beloyy

100.
101.
102,

103.

104.

105,

) Aparna, a learner of cla
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Between my finger ang
The squat pen regts: sn
Under my window, 5 clean ragn; -

: ) Ping go .
Whee !9 Bl sings iy Sra\rellyggrot:::zl

My father, digging 1
Till his straining oy o SO"D

sty thumber the questions (100 - 105) that follow :
U8 as a gun,

rou -
Where he was diggj_ng gh Potato drills,
The coarse boot nestleg on the Iy
1 % = y th
Against the inside knee was leverged fiirzg;ft?
He rooted out tall tops, buried the by -
To scatter new p € bright edge dGEP.

. Otatoes that we picked
Loving their cool hardness in : .

our hands,
Complete the word analogy :
coarse : rough :: snug: 7
(1) lazy ) perfect (3) lethal 4) comfortable

The poetic devices in line 2 ared Tk ar.;_'_-; :

(1)  metaphor and personification (2)- hyperbole and metaphor
(3) simile and alliteration (4) ~ metaphor and simile

What is the overall tone of the poem ? :___ o
(1) annoyance and anger (2). . pitiful and sympathetic
(3) disgust and animosity (4) ~ nostalgic and admiration

In the second stanza, the poet is observing !
(1) a gardener tending flower beds (2) his father digging potatoes

(3) farmers in the fields - (4) potato growers in the Count;'}fside

- -+ .. loving their cool hardness in our hands’. What is the speaker referring to the given line ?
0 e sm (2)  the handles of the spade

(3) the potatoes "' (4)" the potato drills

How does the speaker’s father feel aboutf"l;ijlgfsbn’s choice of career ? _

(I) The poem doesn’t make it clear. ¢ _:
(2; He vgishes, his son choose a more pf«'i‘fhcal path.
3

: . : farmer.
) Heis glad his son isnota Y.
(4) He is ambivalent towards the cth(f:?f...__.

ss V understands that listening i_lwolv-?s listening to each sound, words,
then sent to get the meaning of the speech or an audio. Which approach/ strategy she believes
n sentences to s |

in for learning to listen ?

(1)  Top-down approach
() Bottom-up approach

) Both top-down and botto s
(4) It is neither top-down nor oL

m-up approach
approach

63
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109.

110.

111.

112.

113.

P-11
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A teacher of class VI does a warm up activity to connect their previFms kno?vledgft;nd excll)'erieme
with the text they would read. She asks her learners to look at the illustrations to d e?rea R
(the story) before she begin to teach the text. What does she want her learners to do ¢

(1) Visualize the story through the illustrations.

(2) Appreciate the illustrations.

(3) Make prediction about the reading text.

(4) Make them understand the illustrations.

A continuous record of instances of learning by the learners is known as :

(1) Portfolio | _' (2) Continuous Comprehensive Assessment
(3) Proficiency assessment 4) Diagnostic test

Which of the following refers to ‘Knowing about language’?

(1) Declarative knowledge (2) Procedural knowledge

(3) Grammatical knowledge (4) Strategic competence

Which of the following statements is true of a dialect of a language ?
(1) Dialects of language vary from region to region.

(2) Speakers of different dialects of one language can understand the other dialect speaker.
(3) A dialect is a bigger. category and language is a smaller category.
(4) Sometime different social group may speak different dialects of the same language.

‘ Authenticity of materials’ refers to :

(1) materials written by the teacher for her class.

(2) materials written or’developed by people in authority.
(3) materials written or developed in real life content.

(4) materials which children bring from home.

A teacher of class VI devélci'p‘é the following task for a speaking activity.
Speak five sentences about desert and its climatic conditions.
Is it a good task or not a good task ? Select from option your response and reason for the same:

(1) Itis a good task because the learners may have studied about desert in thei hy class
and will have inputs to speak. In their geography

(2) Itisa good task because it makes the learner to talk about something i.e the desert.
(3) Itisnota good task because some of the learners may not know about desert

(4) Itisnota good task because it lacks context as there is no input for speaking about desert and
its conditions. &

Which of the following is NOT true of the National Education Policy (N of
¢ tu d
foreign languages ? — y (NEP) 2020 on the study

(1) Study of foreign langyages as an additional option during the secondary sta
@) Study of foreign languages included as one of the languages under the thrlei 1laanggiage formul®

3) ?;,:ggg language does not include in the three languages studied under three Janguag®

4) French is one of the language recommended to be studied as an additional option

Ay 64 .
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116.

117.

118,

119,

129,
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(1) Both integrative and instrumental motivation,
(2) Integrative motivation,

(3) Instrumental motivation,

(4) Itis neither instrumental nor integrative motivation.

What is ‘systemic competence’ in lmguage learning ?

(1) Understanding and applying ﬁia_f__language works as a system.

(2) Understanding and applying th_ét languages have a grammatical system.
(3) Understanding that all languages have a common structural system.

(4) Understanding that all human have a systems of many languages.

Here is text or some statements. Find out which language register does this text represent ?

The Indian Constitution recognises every person as equal. This means that every il}ledual
in the country, including male and female, person from all castes, religions, tribes, educahona'l and
economic background are recognised: as-equal. This is not to say that inequity ceases to ex1§t. It
doesn’t. But at least, in democratic India, the principle of the equality of all persons 1s recognised.

(1) Politic register j_(?.) Social Science register
(3) Legal register 7~.(4) Scientific register

Which of the following tasks promotés'"iﬁtegrated learning skills ?
(1) Role piay (%) Assignment
(3) Project work ' (4) Writing an article

ssical language ?
(3) Telugu (4) Hindi

What i llowing strategy in the?cb_fitext grammar teaching known as ?
e o in contexté ";r‘wking learners notice the language items, enabling them
em 5

Introducing m{aguage itts ' d drawing the attention of learner to the form by discovering it.
to use in refal life co}r:tf:a "(2) Deductive method
(1) Creating 2 SC; i .. (4) Consciousness Raising
(3) Discovery metho '
vaceptive skills ?

known as(feceptive 8
Which of the following’a.re (2) Reading and speaking
(1) Listening and Wﬂ:zi (4) Listening and reading
(3) Speaking and Wr

65 E
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PART -V
LANGUAGE - Il : ENGLISH

IMPORTANT : Candidates should attempt qucstions from Part-V (Q.

No. 121-150), if they

have opted for ENGLISH as LANGUAGE-II only.

* Read the passage given below and answer the questio

1.

121.

122.

123.

124.

p-11
J

ns (121 - 128) that follow :
d blue hills, Netarhat is Jharkhand’s beSt~kept

Surrounded by verdant forests, natural springs, an _
¢ about 151 km from the capital city of

secret, located in the district of Latehar, at a distance o
Ranchi. This quaint hill station brings solace and gives visitors much-deserved rg:fuge from the
hustle and bustle of cities. It is located atan altitude of 3696 feet, allowing people to enjoy magnificen
views. Fabulous sunrises and stunning sunsets leave the visitors awestruck. Explore the surrea]
beauty of this beautiful place, also known as “Queen of Chota Nagpur”, and return refreshed anq

rejuvenated. ‘ _

With its shimmering waters, sparkling reflections, cool air,

lake offers serenity to its visitors. Itis an ideal spot for picnics, :

you to go boating as well. Get closer to nature with the most beautiful forests in Jharkhand, and
tain villages and thick evergreen

the pine forests. Netarhat, with ts pretty lakes, shady valleys, moun : '
forests filled with gorgeous pine trees, provides a panoramic scene to the visitors. The pine forests

surrounded by mists in winter, make any traveller feel as though they have been transported to

another world entirely.

The most well-known location is the Sunrise Point which offers a sp
that resembles an oil painting. Visitors cannot help but be struck by the sun’s rays as they emerge
from valleys covered in lush vegetation and cluster of tall trees. The most picturesque view of the
sunrise is visible from Hotel Prabhat Vihar, situated 17.Km from Bazaar Haat. Netarhat certainly is
a perfect getaway in the heart of nature. Guest houses provide cosy accommodations and a heavenly

dining pallete to its visitors.

and breathtaking scenery, Netarhat
and the lake’s tranquil waters tempt

ectacular view of the sunrising

The underlined word in the phrase ‘this quaint hill station brings solace ... implies :
(1) it makes you breathless (2 it makes you visit the place year after year
(3) itevokes curiosity (4) it brings peace and comfort

Identify the parts of speech of the underlined words in the given sentence :

‘Eabulous sunrises and stunnin
(1) noun, adjective (2) verb, adverb  (3) noun, adverb  (4) verb, adjective

Which one of the following scenic views is not found‘"iih Netarhat ?
(1) refugee camps (2) beautiful sunrises and sunsets
(3) clusters of tall pine trees (4) scintillating views of sunrises

g sunsets leave the visitors awestruck .

The phrase ‘hustle and bustle of cities’ implies :
(1) beauty and eye catching views .D.I cities
(2) stunning sights and scenes of cities

(3) peace and calm of cities

(4) busy and noisy cities

EEERT
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Read the following statements

() Netarhat is located ot 5 pejgpy oo feet
et.

It is referred to as the -
((?J Netarhat is blessed wiu?fﬁz;ftiﬂ"ta Nagpur.
(1) (A)and (C) are correct, (B) is incon-ny m}fﬂl:ests.
(2) (B) and (C) are correct, (A) is e ec: |
@) (4)and (B) are comeet, (0) 1 gt
(4) (A)’ (B) and (C) are all correct ect | L

Complete the given word analogy : -,

gorgeous : beautiful :: tranquil : _7

(1) misty (@) peaceful (3)_» Hioppy (4) blue-green

The Sunrise Pa?int offers visitors a breammkm;;;;w of : 1

(1) the sunrise (2) an oil painting (3) Iush vegetation (4) Both (1) and (3)
As mentioned in para 1,

the quaint hill station, Netarhat gives peace and calm to visitors because :

(1) they can be away from hectic city life

(2) they can go fishing in the lake waters . 3

(3) they can enjoy train rides .
(4) they can go paragliding from hill tops g, =~

?-:_.5

ead the passage given below and answer the qgestinns (129 - 135) that follow :

1l
LT i

[t was Somi’s idea that we meet at the pool in‘ten years time. “When we are men, we must come
back to this place, ten years from today,” heig.a%d. “Rusty, at midday on 5 April 1964, we must
return to the pool, no matter where we are, orfwhat we are doing. Promise?” It was a school boy’s
pledge, and made in deadly earnest. As boys; we usually mean the things we say. . And so we
shook hands on it and dived back into the water. |
The pool had been discovered by me a few months earlier. I remember that it was going to rain...
I'could see the rain moving across the foothills, and I could smell it on the breeze. But instead of
turning homewards, I pushed my way through the leaves and brambles that grew across the
forest path. I had heard the murmur of water and I wanted to see and touch it. Sliding down the
tockface into a small ravine, I found a stream running over a bed of shingle. Water trickled down
from the hillside, from amongst ferns and grasses and wild primroses. The rocks beside the stream
Were smooth, and some of them were grey a;nc,lg?ome yellow. A small waterfal] came down the
tocks and formed a deep pool of apple-green water. o :
When | saw the pool, I ran back to town to telé;ﬂlt;! others. Anil and Somi were my closest friends.
il lived in a crowded lane of the Dilaram i ‘aaﬁ' £ ;visas Wwild and a little dangerous, subject to
™Moods and impulses. Somi was sensitive and ‘gentle in his ways, but common with Anj] he had a

Sense of fun and an instinct for adventure. ThepOolwas my own discovery, and 1 was proud of it
We'll ca it Rusty pool”, said SombEse (.
. COmpIefe the v'voi'a arl allogy giv:rl below :
CrOWd " . vigour : —i— | ey
0 ;:a;vg:ees:srted . (g) trenpth (3) weakness (4) lethargy
71
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130. What brought the three boys together ? .
| their earnest attitudes

(1)  their swimming talents (2)
(3) their childhood mischiefs (4) their gpirit of adventure
Vol ‘ ”
131. Who among the three friends proposed the idea' of meeting at the pool ten years hence ¢
(1) Anil (2) Somi (3). ' Rusty (4) Somi and Rusty

]

132. Which one of the followihg options does not describe the pool in the stream 7
(1) rough rocks on the bed (2) trickling waterfall down the rocks

(3) apple-green colour of the water (4) water trickling among fern and grasses

133. Identify the parts of speech of the underlined words in the given sentence :

“He was wild and a little dangerous , subject to moods and i_mpulses’.

(1) adverb, adjective (2) adjective, adjective
(3) adverb, noun (4) adjective, noun
138 “svvincs a pledge made in deadly earnest’ implies :

(1) being suspicious about someone’s intentiort {1
(2) to wish for the death of someone o
(3) apromise in complete seriousness
(4) a promise not to be kept '

135. Which word can be the nearest synonym for tht::IE =v*;§rd ‘instinct’ ?

(1) affinity (2) premonition  (3) _inclination (4) hatred
136. Top-down approach to listening involves : W

(1) Paying attention to the specific details.

(2) Listeningto the gist of the speech, text or the audio.

(3) Listening to overall message of the text, speech or the audio.

(4) Listening to each sound, words, phrases, clauses and sentences.

137. Kripa and Karan are twins and speak a particular dialect of Manipuri. However they differ in

their speech. What is their individual special way of speaking the dialect known as ?
(1) Idiolect (2) Dialect (3)_' } Speech act (4) Manipuri

Lo ‘Iflgllllcc;’1 ?l'ztl};ls)f;%;(‘}v ;ng BTRIEGhAARrL cla?slfﬂl language as advocated by National Educatio?
(1) Stdy classical language as an additional option during secondary stage
(2) Study of classical language as an option under three language formula ge.
(3) Study of classical language during the P"‘?Pa!?tﬂry stage. A .
(4) Study of classical language as a core language at the secondary stage.

e S ITRATNE
Sierw ey,
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What are the stages involyeq in designj 5
i i j i lassroom
(1) Forming groups, gning and doing a Project Work in language clas

: Planning collection of d i i iti ft
p 5 - ’ ting the draft,
identifying the topic, and finalization ofothe E;Zzll;oilrerprctatmn i

(2) Forming groups, identifying the topic

writing the draft planning, collection of data, interpretation of data,

and finalization of the report.

(3) Forming groups, identify; S, _ _ s
oo f . e e el o ot g (e

(4) Teacher and learners can design aﬁdf'do the project work any way they want to.

A teacher of class VII wants her leamé}é t(') read the short text with an understanding of power

and identity of the people and community presented in the text. What does the teacher aim to
promote among learners ?

(1) Language literacy (2) Critical literacy
(3) Analytical reading (4) Literary skills

Here is a text. Read and find out which language register does the text belong to ?

Suddenly, after the revolution, it §Eeﬁied possible to change this. In many parts of the world
including Europe and Asia, new ideas about individual rights and who controlled social power
began to be discussed. In India, Raja Rammohan Roy and Derozio talked of the significance of the
French Revolution. The developments in‘the colonies, in turn, reshaped these ideas of societal

change. _ :
(1) Science register
(3) Social Science register

" Political register
* Revolution register

e

£33 /
Subash, a teacher of class VIII regrets, “Language assessment generally does not give importance
to receptive skills.” What does he mean by ‘receptive skills?

(1) Listening and writing (2) Speaking and reading

(3) Listening and reading 4) Speaking and writing
What is the stétﬁs given to the English Janguage in T —
& omda e (2) Associate Official language
an jada Ll
3 (*:1a hngulzge i(4)y Language of statutory bodies
oreign la - il

is birth and he éfudies English and Hindi. Based on this statement, find
[ P ?

Which of the following statement 18 NQ\—'{T_ItT?uen

(1) His Odia Jearning is Janguage acqgggo -

() His Hindi learning is 1anguage learnh _‘i- '

(3) H1s Enghshle arning is language loarn.l ;,

[4)- ye His.Eninsh Jearning i8 language acquisition.

73 : .
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stem.

Learner understands and applies that language works as a 8y
i tence

(1) Communicative competence (2) lSystcmlc compe

N @ @ : -
(3) Sociolinguistic competence (4) ) Strategic competen

Instrumental motivation is when : o

(1) a person learns the language for utﬂltanan reason like employment.

(2) . a person learns the language for bei‘l‘llg (;loser to the native speakers of the language.
(3) a person leatns the language for thé-ihr-""cérmnmﬁties religious and social functions.

(4) a person learns the language for writing a book.

-
I-',_

Which of the following is NOT true of language ?
(1) Language expresses identity

(2) Language is a repository of history E 2

A

(3) Language contributes to the sum of,ﬁi.limm knowledge

.....

nte and engineering bette

(4) Some languages can only convey scien

e. But can’t use in a context. What knowledge does she

S '
(1) Language acquisition device (2) Procedural knowledge

(3) Declarative knowledge (4) Application of knowledge

A test which aims to identify an individ ye oo 3
i tify ividual student’s specific areas of weakness and strength i

1) Objective test (2) Validity test “/(3) Dinomece:
(1) Objective test  (2) Validity test f_'_"'_}?'}(s) Diagnostic test (4) Formative test

ki i
{ 3

A teacher of Class VII wanted to give a wntmg task of writi
W L | - 7|
E:tﬂx‘yf th;e cla;iroom and brought a Hawker to her classrorc:;n&ﬁ}? i?:réph]?{‘ of a person. S;‘;;ft‘;
ere for about seven minutes and then ?slﬂd her learners t » basket. She requested #
of the person. N © Work in pair and write a descript

What do you think the hawker in this act;vnty known ag ?

(1) Teaching Assistant 2 AH awker
(3) A participant in the activity (4)  Materials
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